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[ sdzd Iststc d dze C OyJ mldaiizzas [ Han@dg) frylsHe j § dagdat:
L Ists dBBdesesOMY § S IsdzOv f tetsB dzj RO, ftoj g o
sitedjoeo d MmMdmisj d3r fsCOLOIjdzj?2 €C0Oyyd mMlse @
fsCOLOIjdzj?2 COyjMmseaO® bkMmdzEed W oidiykzisl fmjw
Isd o detsgtiseel. j Sslsdodzr &3 f 8C OLOIsjdzv &3 € OyJ Mise C
MsOlkdmMmisdyi ME&dy ~rOttOCIsjtedmMisdeéd C0OC ¢ Mmts,
Cld B MO Stddud Mse @ iedb gzfzPd dald - tof
H sef3 Cld B MO ¢ €@d Qids s O ddy iy bpEi de
M ftjH" HENdKB HfstRAZS Y didsyddef ydg'ids o sSlsL r ads-o L
sdzOdz dzs?2 Isj OlstcOdz! dets?2 CtedlsdS€d d wfRrR 8 {

s Mkl jCIsdodzyr &3 Y 5COLOIjdvd COyYddirlse C
ted MiegEMC tcr 9 O h dn YsdWisdy c¢cBlsdetsh jdzdj - L o
B2 kMdzEeje. 1 MmMddzkz ke, Ykt MistelzsIlskzt
MotsBtOL dgs L dB3j oW is! slsdesh jdzadj ygj dzj gts?
B dZsOi) . CIsd OMyJCisr oy jd@h jal fddnfipiszizesds o
CtejIsdLdokzs hdr B EE yjdz@ dMmMmdzj Hise Odzd v .

Kjdzdsmmdzj Hise Odedw wWodzw jIlsimw o1 W o dzj dzd |
¢ COyjMmMbsoakz MoydsClkzd skztcdzr » EMdzze 4 Ols
HsdiMise Jdedzr = [ ddedMmisjtemisolz Ckdz Iskter dwojt
1 OHOYyd:

1.1 " weodls! ktotse jdz@ oCdzt yJ dedetsmisd toj Odz'

Emdzze Isj Obtese d Ctdzyjtelsdzr = Biee OdizdL C

Bztec©O. [~ OttOCIsjtedL s9Ols! yjdd oa&lr dzOlietn

M bsyséd Ltwejdedw JJ4j ddzsjtejmMO ¢ Isj'Olste(

dzr &3d folstejBdlsjdzvddd HBMsEzYf dshmisd Isj O

EHsodzj Iso sted Is HsmMkzetser | ftslstc] B dztsls

Isj OlstecOtlzj datfh dz" » RBjtosftcdy Bf Bz Istf d ff
2. [ nOtcOCIsjtcdL B Ols! {fwlstejBdlsj dz MCdJ - §

Olstese d Ctdzyjtelsdzr = BtecOdzdL Oyd?2 g £ 0Ols

desfisd jJ olstejBdlsjdz MECtsets ftso jHjdedW

3.RMMdzj Hiso Ols! Blsdzshlgsiagdd y( teldi @ dz'2dz" Gz HJ T
toj fJtolszOtedzs? fsdzdlsdSCy IsjObtetse d € s5¢
Ftetso j dz sfme j Hisddz] dzdesisd d dzj f siPsj H -
tesd3, Mlsiffjdz EHtodzjlsotstej dzdesMmisd ldsd §
Meodj dd fobjrap@misv d Ldls



4.1 v wodls! ktetso jdz bkHtseo dzjlse Stej dzdats fiyls-d
B | dzj i3 dz2s OB d WkZdSydsdzOd dr iz + Ots
Gd: tjydmmMkztes?2; dotts?2 OCljtktse 5- OF
flss BOBR]; ML HOddzts? s sty ME Jf @3s €35 dzday
todlsj dz' dz" d5, ftetsW jMMdsdOd d & HJOdsE
dzs o OlststeMS da3d fsdMS ORY; e OdzdL Oydj 2
OB Bilsts? fl Hyjls: &3, HijbMSdH tjffjtelskzO

5 RLEZydls: Ztotsoe j dz FHtseo dzj Iso st dadets fiyls-d 1
Bddzd di3j dzls Oz d WhkdzeS ydtsdzOdz! dzrf d3d ¢ OO

iz e Ctdayjtelsde 7 BtecOdedL Oyd?2: tctc OB
CifMmstese, OdMO®RBAZj?2, MbbEzHd2 d Is.jw. ) ;
dzj 2, MmMtsadfmlstse ; fted g dzOh j dzdz’ 3 Odg@; ¢

StecOdzdL Oydj2 WiMmksdeOdzj?2, SCkd lskiksdr o
MCdds tojtfjtelskzOtetsds; Ol dsMW j tets?2 Is otststc Y
ojtdlsj dzv dgr o3, ftosW j MM sdzOdz! dz" @3 Hsd Odz
fMls: 8, deso OlststeMC ddBd  sdMS OBR,; toPjsdrjsds@
LtedIlsjdzj d3; Htetsmo jlsdlsj dz MEs2, BGBWLOL 59

6. [ nOtcOCIsjtedL 5o Ols! tslsdesh jdzedj toj Odz' dets@
(M wodMmde” d&3) OMYJSO3 tj OdzdL Oydd Mmts?
Ckdzt Iskter , ftsHoO jHBABMIse j dedz” B Iz t6 off datfd)-Is 1 &
dZso ME 2 BB A&ZOMId, jéts EZHtso dzj Iso tstc!) dzdzats
dzts s d : HdL O2desd3 ddzlsj te! jtcO Isj Olstdd (
detsfyls! 8 Ltcdlsj dzt deséts L OdzO, 9 Misde® dzj :
mMjtcoadmde 7 Mdzye (BEW' s3icOdOKCH] G@igH O

7.1 rwedlst wlsdesh jdedd vyddzjots?2 OkzHuHdlsstedd
d HtsMlskzf dshmisd EfmMdzke cthmikzH Ottmise j dade -
stce Odzd L Oyd 2.

8.[]ftjHjdzdls! HtojHMlsOodzjdedj yYjdzjotsp- Ok
Olstese d CtdypPmlgd, - SEOEOdePr h dr szt
Cedz Isktedz" § EmMdzzed.

9.1l rwogdls! dgdzj dedj yjdzjots?2 OkzHdltstedd TtE
CodRilBszdzd C Ols o dzs?2 OB SIS’ Eytcj  Hj das[-2  C
hjdedj € tocjPRdzQ dsdzty 22! desflsd Isj Olstetsa0- d
YydEHBodzj sostej dedesfls! MO2Itsds Isj Olstc O,

10.{ § dMOls’ fpsjydgeods @ifs] yd MSd2 d f§Mmdatsctec
stejBdlsj dzv MsydosSlzdz sktedzr » kfmdzkee s
fsHe jHBHBMIse jdede" = [ ddzd Misj teMmise & CHdz' Is
dzfpls d .



[ Bl jCItsd3 dMmiydajdesosGpzd W silstcj B dIsj dzd ¢t
EyteiyHjdzd?2 Ckdz skter (Isj Olstetse d Ctsdzyd tol
f JdzedmilsjtemMlseaz Ckdz skter d IskztedL d3O w9 j toH C

l " BBteHBcOISdW Jydietse OdzdzOwW My { te g d3s tc | ofis
Wstcdzdtetso OdzOfMm! o L OeadMmMddsmMisd s tsBI j BBO
o Coddujfmbed Ltdlsjdi?2, {§smijldehdm MY
ftcj HMIsOoa dzj dzdWw o Isjyd dzdd GtsHO. I HYydzj
mMC ks OkHdltsted® UdsdprOHs teist®c Qdzdhs@aydj2xs. [ B J o
MistcOIs] Wttdddteso Odzinpw o MBslse jIsMmise ddgz- M
Ctojlsdgr = EytejyHjdd?2 Ckdz skterf[," doBSEH Wohr BAt
dzj ftjorhOjls 5%, Hted o jteWwIsdesMmisd 0, 95.

[Bhd2 wBi jikl 21 B tstgf df.

[BjJd& orBBtcCd 5 OZudbtsttdd cecthiade&misg 4
RL dzd = :

e 4o jtocHdZcoMC d?2 cEtsMizHOteMmise j dzdz'-2 8 OC Q fi gzds
e 4o jtocHdzZBoaMC d?2 cEtMizHOteMmise jdzdz" 2 0OCPHPHJ &

Hdd346 vyj dz.

[BIl jd3 9" BBtS dcicfhzOPiibBitdedzr = B dZOffls dz" |
LOyYb289 yjdz. RL dzdn:
e 49 JIcHAEZSa ME OV StcH ] &0 vtckzHBBoaBGEts s tcOMmdz

OC OHJ B yd MSE OW-16 ¢ dz@ i dgts dad ¥

e 4o jtocHdZBoa MC OW GEtsMmikzH OteMmlis o §5d8kzOy da.j s O
e LIcOdzr MEC 2 ¢ M HDlEHE Isio-f I€A80 ] dz.
e LIOdzZ MC 2 yJ delste dzOEOH dagieds dMEEMMise O

[ JIssHr MmB O iy tsdg@3Rdydisfo Odedzts d gelsd to
dzv 3 e MmMikzH OtMmise jdadzr = EkMmdzze EZytej ) H jeded 2
GOdzdL Oyd?2) , f SHo9 jHB®BMISdjzdedz ~d [ loflxim(dig Isd3 Qs
Mes?2 B dzOMIsd.

Lvr vt of?216Cc rRIV? [(sdu[tRrRLIVELOG
) JfuvtrdRrRULS [ B

] ©OBRSOR {lkset ©OLHj O & §sf’ 4sOdd
stejBdljd MCtsets ML dzOddY o o] Hj ddw
Ckd sker (s Obikssicd0Odddandeds)dy § SHEsfH S
flsok Skdr skter wojteHdse M2 B dkOMisd.



 dzw  or wodzj dgdwv slsdetsh jdedw f tslstcj B ddg-j dzj
BktcG O B' dzt o' Hj dzj dzs dzi MG sz €5 B OL 859"
Misd YsltejBdlsjdz MECsetg ] o BRAZOEHIsEEY fH j
o Ptetso jdz2 ddzlsjtej MO yjdzj os?2 OEkZHIststst
tcd dzB Ztcc O;
Mlsjfjdz Msslse jlsMlsoadw Isj OlstcOdzddzts?
Ud Médd3 L OftesMOB §slstejBdlsj dzj 2 ;
Jd MitsmMtsedsMmls! EkEHBodzjlsettedls! drn +
FtesoQUWR o dzgsmisd f slstejBdlsj dz MEtsets
syjdz¢ 0 slstcjBdlsjdzv dzd HEsMislzY dshisd

l yjzsds syj dzC O Isj OlstcOdz! dets?2 ydLded [ €
d Cdzyjtolsdzgr » e OdzdL Oyd?2 oM 3O € dls
IsjtedL e ls | jdzlLsOCH defvdzldyjtsjvip ( 95, 6 %) . dls-dn
Msokzjls dr 1 MlsjlsdyijmMédds L OftesmMOd3 (92, 69

lted Ibtsds, ybts Isd ¢ dzdh!' (sdaseddd t
OCIsdodzr 3 EZyoOmlsdzdC OB Isj OlstcOdz! dets?2 3 d L
fls s ZH o dzj Is otdladey s Bsdztsfipdstf d of HisHE ¢ Sdztsl2 Is |
(95,4%).

[BhOVW yjdC O IsjOtcOdz! des?2 ydrLrded [ € Ol
OzHdltstcdd Isj Olstese d SCtdzyjtelsder = tstccd Odzd L

v OB dzd yo
Kjdzj o Ov OEZHdltstcdw GetMmikzHOteMmlilse j dzds tcdfG=iB dz
LOyd?2 B Slsdetsh jdzdd ¢ Isj OlsteOdz! dzts?2

(9 % ¢ ydimdze wlse jlsdeh dn)

U OltcOdz! dz@v-| 1 Ol S BigeSCBtg 1 JI8 1/ IR Rz
Isj tcd dzB z tc G HO dzj Is Gs|Hjk

d dzls § t6§ fdzO 493 463 | 31 | 09 | 04 |100,0| 0,76

mssle j kmisejz| 37,6 550 | 3,2 | 1,56 | 2,7 |100,0] 0,63
MCdd L Of tetsf

bHso dzj Ise st~ | 400| 51,9 | 41 | 24 | 1,6 |100,0/ 0,63
o' j Y] s da

HsmMiskz dz© ¢ ts| 44,5| 50,9 2,7 0,7 1,2 |100,0| 0,76

6] My GdeH j dzls | 29,8 | 229 | 258 | 19,6 | 1,9 | 100,0] 0,09
OCIkdody 8 ky

COC MiejHdww o] ddg
Cls dEs@EL tsolz o Uik HAf) lsoG)odetzfj iz
6

(ON=}
S



 Odzj j trO®ftsy jodpdzizfldzd f slstcj BdIsj dzv M¢
OzHdltedd Isj Otetse d SCtsdzyjtelsdzr = Bstce Odzd |
fcsCOLOjdvds (Md3. IsOBdz. 2) :

ktetse j dz ddzt stedzdtetso Odzdzsmisd s Isj OB-tc O -
sjteddzB ZtcG O;

2)tsL dzOC tsd3dzj dzd j f O Rz Yyt @Yy sotseg s s h

f JjtedsHduyudesmils: Jsmjh jddw Isj Otetsodz-d ¢
Bktcc O ( dztw dz' desmils: §slstejBdlsy dzvv) ;

HdzeBddz' § IsjiObter d Ctsdzyjtelsder | tstec OdzdL

1 slstcjBdlsjdzd cetMmMikzHOMmMlse jdedzr » EZMdzize
&ZOdetsdzj J] dJdeW stcdzdteso Odgr s Isj OlstcOr dPzL "
&zjIsO© (MmMd3. kOBdZ. 2). ClIsd Isj Olter L dz@& s,
B &Bd .

[Jdzgjj oefMmMjcets Lidlsjdzg dLojMmisder [ SOIsj te
el BSeteOVdd (¢l wtsoaddeyd @dz' dizij MO depoa])] S( de
M sdH j dzlstse ) ; BOdzr 2 HtORBOIsSdUui MEd2 Isj Olst
(25,9%). 1dqLS¢d?2 Ettse j dz d deW tstcd3d tots a © dzdz
dg" 3d ftedyddzOdzd, iSdejdOsadiiOnEEgts’ din Y4 dzj
sftotsh jddO K] slstejBdlsj dzvd3dd ctsmizH Otefijlso j
YHjdd?2 SCkd skztr .

v OB dzd yoO
AKjdzj o OV OkHdltstedw cetsMmMikzHOteMmlse j dzdzr = dtsB dz
LOYyd?2 t5 Ltedlsjde MmSdn ftejH tslsj ded W n

vJOlster d SCt@A ) sMPH) s h [y i1 d O-

dzdL Oydd zd sls|f j e | dzOL 9 ©Is |8 s G5

BT to MS( Bd d5r &3¢ € dn
Uj Okte HEOM 51,1 30,8 20,2 3,6
vjOlste d&gzL' ¢ Od 4909 35,6 23,8 2,8
vjOte Y jte’ d 466 27,7 23,2 3,6
vj Ote L MisteOH'| 40,1 20,0 8,8 4,8
sOBjtedz 2 Isj Ol 26,3 10,5 5,3 13,5
s OCIj O 18,4 5,8 1,5 14,8
S 5 dzZ¥sHj @D Is ts 18,8 8,0 4,1 13,9
uvuj Olste | 5dzm tsdz& 19,5 4.5 5,0 15,0

2Rls5E O O MEBBO s flssdeyk fjorhojls 100% (emisd ¢k
7



UjOkter d SB@AIGMPIIsmj | [Gy4lsllg O
L Oydd | dsk|fjttdi| dZOLo©k|s s @
BT t© mMSd| Bddsr &k €=

5 j Olsts zj &€ zdzy 227 7.0 2,5 11,6
5j Olste 5 dgsets L| 39,8 19,3 8,0 4,9
vjOlte SEC B 30,4 8,7 5,0 10,3
[COIjted &zB teasy 10,3 2,9 2,0 33,1

ote] d3j wladAS P 5SG 6 O
(¢} tetse d dzyd O dz

[Odz 2 HEBO®ROIJ 89 2,0 2,1 30,0
"o out {1

vyjBdy 2 IsjOlstge 109 4,6 2,4 25,9
A d dzO tc d3ts dad W 33,7 21,8 17,9 6,9
jlsmcow ¥ddotg 154 7,0 3,3 13,1
LOd MSd2 vyjd 220 10,6 4,0 27,5

dMmMSEzmMmis o @ tc O dz
ZOtesH dz" 2 R Sts)

RIStSG B 464.,8 226,8 139,1 235,3

RL CBdzyjtelsdegr » BteeOdzdL Oyd?2 [ COIlsgdted dz
fMisjtelsol Ckdr skter d kktedL B8O, Okndlttd
ctsikzH OteMmise j dadzlzs W d dzOtc dZts dzd & . Ltctse j dz d
ZOdetdjj or Mss (ktd St 6, 9% toj MY sdzH j dz
ofmMjcects OkzHdltstodw o dzAHjOjds M dzWiys ta)ds @alpdcji? dis
Mlse © (27,5% daj Jde stedzdtctso Odzdz" » ) . [ dzw
sflstets Mistsdl ftosBdj BO L WY jClsdo dzsets  tot
ZOL o 0Odzdj HOdMzZj ¢t dzgj oMicHO OMMsyddisk,jls
d2 8 BHidzj dzd j &5 cutcOd MSd2 Rtstee d Ctdayj ok

1 ZOudlsj dzr dzOw yOfils: Ltedlsj d MCS2 ddEH
YyJ telsdzr 3d Bt OdedL Oydqwdsd [ $OljteddeB ztce O
fsmjhjddy. RdVWsteidtotseo Odzdesfis! SBCsdshis
ksydes o' MSCO (Mds. kOB 2). Gkt lsdsidk
tcJ My tsdegH j dzglstse f sMjlsddzd Isj Olstc mslsw BT St
sfjter d BOd&ZjkO (46,6%) . Clkd ljOkttr
sftetsh j dgdz’ i ddsjsfaf sdgHOdB tsdzj J dedL S dj  5€ 0L
OzHdktstedd &O ktesodsy t©OLBoBER L d&zOC t5eBMls
me d2 kj Okt fMtote] ddj dzdats? Tstej sctOWdd,



"vrout 1", EydBdzr 2 Is] Olsts. Rm ntSlsWw jBr" |
MY sdzH § dzls .

I smjhjddj WdazOtdtsddd (¢O0¢ BdddBzd
toj M tsdzH J dzlss 9, Ld2Oydilsj dz' dets d3j dz' M j 4 dn
Ctsdzyd telsdzr d3d tstc cuQadadoz! O ddW2d3dy J Sd@sSte dzOte s H dzts
d HijlkMmEOWw WJdzOtedzgsdzedw (15, 4 %) .

r Odzj Jj BarOOSCIsjtcdLizj d3 EZtotse J dz@ dzb® dz! ok
COLOBjd&zd ¢cMOBBBY 2¢O § jtedHdydzsmisdiz- f 5
YyJtelsdzs?2 e OdzdL Oydd) HdzZw Ltedlsj dzw (Isj C
dz¢ B d d3" &3 ) e .

SOYHTM 2 Iste] Isd2nudisiof tsdzHmjjdglyy § smils W dzdz'
BzLr COdz! dets?2 Ctsdsj H]d, HicOdZ" , fjtr df B
sOjIs MijBWY LOaMjGHOISOjdZ o jteH dzso NG 52 C

Clsd EytejyHjddw Ckdz Skt sSO¢YJ Wdoelkzt
3d. wor hgjdIs2j0dh S ts?2 OkHdIlststedd Mydlsoels (d

rczeddid MmMdzse O], COYHT 2 btejlsd?2 tstej M
w dz! dztsfyls LIsdds EyteiyHJddwvdy Skdz sizter dzO
(OCIsdodetsihisd §sMmjnhjdadw) , COYHT 2 fwisr 2
fd Bezd dg.

skh jMmMsokels tsftejH]dzj dedz" | tOL dzd yqdwde-z2
YyJtelsdzr = BtcOdzdL Oyd2 (MmMd3z. ksOBd. 3, 4).

v OB dzd yoO

KjdzjoOv OEZHdltsttdwy eMmkzHOtmlse j dzdz" = 5B C
ftej Hf sylsj ddvn tlsdshdlsj d dts Mtsyddzs Heds Is L
GOdzdL Oyd?2 6. [SCObjteddBEBEcO (9 %

v Oter d Cts@nA 1 smMPil smihn [ BYdll1d O-

dzdL Oydd dzd R Jdtdts|] dOL 9Ot s A5

Bl to med Bdd3r d@3¢ S dn
v j Olsts HteOR 60,3 35,8 25,3 1,6
v Olste wBEZL" COd 57,9 46,7 27,8 0,8
vjOlte s jter o 53,8 29,8 23,3 1,6
vujObte {MlstOH'| 41,1 12,0 8,8 4,6
sOd3j tedzr 2 Isj Ol 250 10,5 5,4 13,4
[ OCIjtcO 17,4 7.8 3,5 12,6

‘RsE B OV MEzdkO s Missdeykz fjorhojls 100% (emisd ¢k
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v Oter d C¢ts@A ) smMPil smjh [ BYdl14d O-
dzdL Oydd dzd 1 Jjdp| dOL 9©Os|s s a5
Br t MSd Bd & ¢ S dn

s 5 dzUsH @ s te 19,8 8,1 6,2 14,8
vj Olste ] sdzn Bl 19,7 4,4 4,9 16,2
5j Olste 2zJ &z zdzy 226 6,7 2,9 11,0
v j Olsts L8teglsjodzy | 44,8 17,3 7,2 4,7
vjOlte SEC B 38,4 8,7 5,7 8,1
[COljted &zB Zteas 12,3 2,6 2,2 33,8

otcj d3j dzdzs? R st
(¢! eso d dzyd Oz

[ Odzr 2 H©OBOId 94 2,0 2,0 30,0
vt "

Ly Bdg 2 Isj Olstg 10,7 4,9 2,5 26,4
A d dzO te d3ts dzd W 30,7 17,8 15,9 7.4

ismcow ¥ ddazote 154 5,6 2,3 14,2
LieOdz MSd2 vyJjd 150 4,6 3,0 27,6
dmcEzMmMmlse O

ZOtesHdz" 2 ~ i)

RIstsg fs 496,3 226,6 138,9 237,9

t OL dzdydw yJjdzjoets?2 OEzHdltsttdd 6tmkzda-Otfr
YJtelsdzr = BtecOdzdL Oyd?2 MmMewL Odgr ) tsMmtse j dadat
nOtcOCIsjtesdy fslstejBdlsjdz MEdr HtojHT sYlsj d
EytejyHjddwvr Ckdz kter; fOCIkdets?2 dnrn f

v O¢, Isj Olstc Odz: dzOW f kz Bidae[dk 80 ta »dgCde@ Islg jdO s
Btsdz! ¢ dJdaWtstcdidtetso Odzdesls: 5 dzed -, Bitsdzj
tcdsHdyuj MSsets fsmjhjddw, 9" tcOy J dzgdz" H- Is§
Mo dzv jIs MBts?2 HEsMIsOltsydets SHdSsSH dzlzy
HOdzj J 1 tedid Mic®d lezjj dz M ts?2 OZHdlttedd Igg-0Olst
B Hd, BEOHOsNMN |22 yjdz tatsyddd yd telsc

v OB dzd yoO

Ajdzj o OV OkzHdbtstcdw cEtfmikzH OtcMmlilse j dadz” R

s ftstejBdlsjdzt MSdms HtejHftsYylsj ddyvas Mesydts
dz@ = tstcc OdgfLOIYidi2d deB.tcc © (9 % € ydmd

vJ Olster d SCt@A ) smMPH) tsmgh [y i1 d O-
dzdL Oydd dzd R0 Jdtedts| dOL 9 ©OIs|8 s G5
Br t| MCd Bdd3r &3¢ S d A

10



v Oter d C¢ts@A ) smMPil smjh [y i1 d O-
dzdL Oydd dzd 1 JjdpE| d2OL 9 Os| s O
Bl to med Bdd3r d3¢ S dn
uj Olste HtOM 42,5 23,2 17,5 5,0
vjOltc ddzL " COd 384 25,0 19,1 3,2
vjOlte s jtr d 385 26,1 23,5 4,7
uj Olste { MistcOH T 39,1 29,7 10,3 6,1
sOdj tedzr 2 Isj Ol 27,2 10,6 6,6 13,6
[sd3 OCIsj O 21,8 3,1 1,5 16,6
S tsdzMsHj @ Is tc 19,2 7,2 7,9 15,8
vuJ Olste | s5dzn tsdz& 19,3 4,9 6,1 15,8
ujOlste 2zj dzC zdzy 229 7,7 3,0 14,3
uj Olste 8 dzsets L 37,0 20,3 9,6 5,9
vjOlste CEC sdz 27,2 8,1 4,7 11,3
[ COlsjtcd dzB Ztoash] 6,4 3,2 2,4 33,1
otef d3gj dedets?2 ~ tStg
(¢l tetse d dzyd O dz
[ Odzr 2 HtOBOIsd 8,1 1,7 2,2 31,1
" out 1"
byjBdz 2 Isj Olstg 11,3 4,2 2,2 25,0
A d dzO tc dts dad W 35,4 23,2 19,2 6,2
jlsmcow Wddotd 16,0 8,6 4,2 12,3
LieOdzr MSd2 yjd 27,3 15,0 4,7 27,4
dMmSkmMmlse O
ZOtesHdz" 2 ~ i)
RIstsg ts 453,9 220,8 160,9 2447

1 tedlsj dz S ow

OzHdlststed W

CcOL dzs tOMM&Ocdso Ols!  j j
Ctsdzyj telsdets? Bt OdzdL Oyd d .

Lyt RU[ [ 28s0C

{1 dsurl 3Im
el LY

srout

#BYyqOed'jdsc O f wish 2
& R kfdkze kjOkkse

Cdzyd tels dz" n
Jd dBsy dzs O dzOdAg 5 g dets® O Is Kt ©

¢vrrRu I RC

L{wur ot

sOY[rwuly

f slstcj B dlIs jtedzj 2
Htc O3 d

Bzl CC

11
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[ FrOLOCIsjtedL z-f BA3BEGPO Yy el s =~ OWGOS Is
dzj ? mMydsSkzdy sktedzr » kEMdzke Isj Olstesaz-H t6OC
shddz f ¢ 0OL Olsj dzv d3:

olj'ISdZ;
e 9L tcOMIs;
i34 Mfstistsy d & Odad ¥ ;

{ OMf g v dzj dad J

fils Oy

Ftctso j dz

HitShn SH ;
sBh d2

sBteOL tso Odad V¥ ;

Msyd Od dz 2

Lisdlsj dz M¢d2
fsmdhjddw

fls Ols iz f:

ted MYy sSdzH § dzlsts @

Mmis Oy ;
CodeCtoj sdetsets Isj Olsts

{5 §dbk

5,6. 1tdkkyjdd j HOddk j Mo ds ik jafifiskizl -
szter yYJjdzjots?2 OkzHdbttedd (tej Odzt dz@ = Y BIStG
des?2 Ctd3jHd(.
v OB dzd yoO
t OMftejJ H)ydzjdzdj tod MY SdzH J dzlsts o
(9 % ¢ ke jlsdoeh ddi)
1 sz vUJOlste HWQUu J Olste BBzl 1] yj ztdz f t
[ 2y M¢C 30,3 26,4 28,1
rd dzm& 69,7 73,6 71,9
RIstsG 100,0 100,0 100,0

[Ctds Istejls! j2

yomlisd

Ltedls j di' dgiSosRd dB iz Hi

Mted Hdzj d3 28, 1) j desdnder O df! 4 ,j9 %) . s tej Hdad 2
Uy mMéd mMseafOHOJIs: 34,2 GetsHO (IsjOlte HiOC
v OB dzd yoO

{ OMf e 1 dzj dad J

(9 % ¢ Blojlsdeh da)
l sLted v jOIste H| vjOkte BzL|] yYyJ st {
s 18 10,1 10,8 10,5
18-25 23,7 24,2 24,0
25-35 27,7 22,5 24,9

toj MY sdzH § dzlstse
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l sLted v jOlste H| v jOte BEzLI] yYj dzsd
3545 14,1 9,6 11,7
4555 12,2 15,7 14,0
5565 9,1 13,1 11,2
658 ¢d 3,1 4,1 3,7
RIStSG 5 100,0 100,0 100,0
Htc] Hdz 34, 2 Gt 36, 6 dzi 35,1 ¢t
9 sL 60O

slstekClsktcO Licdlsjd MSs2 OknHdlsttdd Isj o
fs Cwdlsjted® chifMmlsts fsydoOddwe ISOCY
78, 1% (IlsjOltcs wkiHid®)d dggdkj dzd [ S Olsjtd ds
(21,9%)i ftcj HiMlsOo dlsj dzd tOL dzd ydzr = dzOMj dfd-dzdz'
fMisd, HEkedrs Wicdtdthdi shOFfd. T) L Otclzs § ¥

v OB dzd yoO
tOmMftej Hjdzjdzed ] tj M tsdzH j dzlstse 5
(9 % ¢ e jlsdoh dd)

[ i Middssyfd e | v j Olste yuv j Olste &gzl yj dztsdz
[ € Olsj tod dzE 78,9 78,1 78,4

49 J toH dztse-f 18,3 16,7 17,4
dzoOmls ¢

 tczetsj 2,8 5,2 4,2
RIsts@g s 100,0 100,0 100,0

tOmMftej Hjdzjded ] tj My sdeH J dzlstse s kdetse d
Isj dz? &2 Isstedd tBBdn IsjOlstetse Mtsof OMO, Is
sy clzffO Ltedlsjdj?2 M o Mhdd sl j M
HcOd3r ) d 60, 6% (IsjOlste dBzL "™ COdzt dets?2 € tsd3d

v OB dzd yoO
t My sden j dzls’ tsB Lktotso dzj sB tc O
(9 % ¢ yYydmkzke wlse jlsdeh dr)

Vicse jdz@ tsB| U j Olstc H v j Olste 1l yj dzts
BzL ¢ s5d3d 9" BB

dtcjHdzj J tsBHN 12,2 14,3 13,1

vstojHdzd 4 MY 4§ 26,2 25,1 25,7

I rfmhjj 61,6 60,6 61,2

RIstG ts 100,0 100,0 100,0

13



dlsOlizmMdzr | ~OwOCIsjtedMmMisdSd fHtol HMIsPo dIs

Olstese IsOCYj dHJ dzlsdydz ( mds. sOB dz. 9) . r

wogdzw e Isfqv M j ydodzdmilsr M or mMhdd3 tsBtcOL ts9 (

291%-1sj OO dikzL " COdz! des?2 SosdBJHdI) d EZyo
Isj Olstc® HtOW ) O tcP2 BRWSC & BgzH dat ) .

v OB dzd yoO

it dMftsdzH jJdzlsT 5 MsyqdOdz detsdz Ml

(9 % € ydmdze wlse jlsdeh dr)

dtsyqdoOdz: dz 2 ] v j Olst v Olstg I yJ dzs
HicOR'| d3dzL S sdjor" Biste &

t OB yd?2 11,4 7,0 9,0
(dzt Bts2 Co0Odzd W d ¢
gdzzy 0h d2 (Mmj Ctc] 16,1 18,0 17,1

ftesHO9 jy, ©OBBL
5T j tkydse o5 IstelzH

gl jydodzd mls Mmtser 26,4 29,1 27,9
o Odzd § di3 (o 6 Q@fu,

Isg dzt , 3 dzj HY § 6,

lted HY tod dzd &3O Is § dz! 2,5 1,5 1,9
tzCtseoatsHdIlsj dz¢ I4f-1 9,3 9,6 9,5
Hy d&zO, Mj ClistcO

byohd2mw, MmlskzHj 23,6 22,1 22,8
1 j dzind sdzj te 6,8 9,9 8,5
l .o d3j dzdets dzy tcOB 3,9 0,9 2,2
[ tzGe 5] - 1,9 1,1
RIstsg s 100,0 100,0 100,0

O ZOdL MskSle' HERGHGo Isj OstOd da
Bjj (jcBkOHOsIl Ltedlsj dd, tyjdds Oshdj
(61, 4%). & (O@HddEEYd sj Olkttss HEBOA dzd &
sk §sC0OL0jd fwoSlkdyujmSd dajls ( mds. Lk

v OB dzd yoO
t My tsdzH j delst tsB Lkteseadzgj HESA K
(9 % ¢ ydmdzk wlse jlsdeh dnr)

Lictse j dg vJ Olsts vjOlte BzL| ] yYj dztsd {

1" &S d2 5,6 1,5 3,4

14



I 7 hj fmtey 11,6 17,1 14,6

oo Hdzd 2 61,2 61,6 61,4

VA3 4 My 14,6 13,4 13,9

1LdLcd? 7,0 6,4 6,7

RSBC 100,0 100,0 100,0
[ftejHjdjdd j OMAsYyHjddw & orf weqdd

Miets MOYO d MOy O fMmjhjddw Licdlsj dzv c
v OB dzd yoO
Ajdzj o OV OEZHdIlsstedw Isj Olste® BkzL " ¢ Odz'Isdzts 2
tcOdz! desds MIsOyj d MOy tsmihjddw H Odzdzt
1 ted Isj dz¢ ¢ vslsOE M " j dzd IBhd2 Isj Olste
Bzt S sdB3j H] LicdlIlsj dz ¢ d 3
[ 8 GBHO 23,5 8,8
1-5 G6tsHO 24,3 15,9
510 dzjls 16,8 25,0
1015 dzj Is 8,1 11,2
1520 dzjIs 5,6 8,5
20030 dzj Is 6,3 9,1
30 dzjIs d 15,4 21,5
RIstsG ts 100,0 100,0
Htcj Hdzd 2 ] 11,0 dzjls 15,0 dzjls
[Bhd2 Ltedlsjdz MSd2 MlsOy fEsdzdSd Hsj O
dzj &3 15 dzjBld)j cdasr Nsjj O tc Odz! dese s L tedlsj dz MC ts
HicO®Rr (9 MtejHdzgjdg 10, 9 dzjls) .
v OB dzd yoO
Ajdzj o OV OkHdItstedw Isj Otc® HEOd3 B tsBHN
d oY smih jddy HOdBEset Isj Ot (o
1tedlsjdzz MqulsOy fMmjh ] [Bhd2 Isj OlsteC
Htc Od3" LicdlIlsj dz S d2
[ B GtSHO 31,2 13,4
1-5 GetsHO 29,1 18,8
510 dzjls 15,8 21,8
1015 dzjIs 6,3 14,9
1520 dzjIs 4,5 7,2
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20030 dzj Is 4,5 10,9
30 dzjls 8,6 13,0

REGC & 100,0 100,0

dtoj Hdzd 2 ] 7.8 dzjls 10, 9 dzj ks
sesdj ko, o segl)ydgfd f5s@sL0 &L ¢ Od
b jet Ltedlsjdj?2 Bsd Mj, UidB MOy §imih,

[eeddid fMdso Odd blszdQ Ot @kl dz@8Y0 dz' dafs 2
csfrlsdzOve d dMSkh j dzdzOw .

¢ sd3d

[lsdetsh jdzdj Ltedlsjd MSs2 Okudlstedd § toj
[lsdzsh jdzdj Isj OteOd dzts?
tdd YittjL §sCOL OS] dd:
e SMo j Hisddzj dzdzts flds'j Otis o) § j ls 2 Ot6
e qdzsjtojf] ¢ tjfjttbkzOtk IsjOkKO;
e Misjfjdz LdzOSEhMsoO f ©jfjskOksds:

e 5YjdC O t6jf jtebkOds? fsddsdsd Isj Okt

feeddSd ¢ w474

O d2OdzdL MOBstsYyj detsS yjdzj ots?2 OkZHJIsstzdd
dsflsd s tojfjteskzOtt] IsjOlstetss Ry des tsn Ots
VL Liedlsjdzj?2 IsjOlte® HEOHR td dj NS s € st
LdzOyjdedj dOrRtHdIsMw o wlstcdyOlsj dz' datsAz -y Of
L COdz' dets?2 Ctsdsj Hdd.

v OB dzd yo

t j M sdeH j dzsT 5B bktesedzj tsMmo j H & dgdzj dzdzts
(o % S oyddyde dls)
1O0MSCsd €65 ngt | vyj &8 [ Mo j Hsd3dzj dzdzts M ls
Hsddzj dzf 5 tj o' BSE| [ZLCES®R/U] OO
[yjdz ~ftteshts 10,4 10,8 10,1
Mstetsh ts 23,6 30,4 15,5
utcj Hdzj 29,4 26,9 31,9
] dztshts 28,1 25,2 31,8
{uid §disnt 8,5 6,7 10,7
RstsE s 100,0 100,0 100,0

* PearsorChi-Square= Value 24,454(a), Asymp. Sig. (2-sided 0,0;CramelsV=0,2.4 9 Wfg &zO.8B O W
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RdzH j € tSfe j HIS

0,0

0,1

-0,1

Lictse j dz

d313h1 B

ddzls jtco ! 8)

s0OCOw
0% 10%

h € Odzr

@ jofinist sz OO Isj Ol O
40%

20% 30%

ddalsj 64 MO
ddzls j tco Odzts o .
Or GdzW H jdz Mz HEE N Jd3 BB tLOL 53.

50%

60%

Lisdlsj dzj 2 ¢
| sftesi o

(o
70%

80%

] fig-tols

d dzf ls

fetsyj dzlsOR)

90%

] yjdtsd OkHdlsstdw

Hj Bedilstedieljls

100%

L @&d dzls

szOtc® Isj Oltetse (Md3. OB 14). 1 dzjted #fjsc
E Liedlsjdzj?2 C0OC IsjOtcd B@kzL'™ COod dzts?2 € sk
HteOd3™ (54, 7% tjfjteskzOO) .
v OB dzd yoO
t iMfsdzn j dzlst B Ektesodsy ddzsjtej MO ¢
(9 % ¢ ydmze wlse jlsdeh dr)

sOCOw yOfmls:j-tl1 yj dzt Rdzsjteifm & toj
Olstc® o' L"90j orBtste] [ZLECtsd] v j OlstcO

10% 2,6 2,1 3,6

20% 6,6 4,5 9,6

30% 8,3 7,0 10,2

40% 11,0 11,2 10,8

50% 27,0 29,3 23,3

60% 11,0 10,7 11,3

70% 9,5 11,6 6,6

80% 8,6 7,4 10,2

90% 4,6 4,1 5,4

100% 10,8 12,0 9,0
RIstG ts 100,0 100,0 100,0
dtoj Hdzd § L dz2OYy 56,9% 58,6% 54, 7%

gilsj 4 dz L Z2ZOSCsdi3mMisoa © M tjtf jtelskzOtoxy Is,

haos hCOdzr sy dzstseo. (JMftsdzH j dzlsOd3 B dz
S) H§ M ddzmHjCRdE jte@fnfudlsOdz COC MisjHdz j 5 fSEYHSSo-B2HEC OC

+1.

® pearsorChi-Square= Value 12,757(a), Asymp. Sig. (2-sided 0,2; CramelsV=0,2.4 o Wfg &zO.8 O W
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4 COCEB2 YOMml'* ©jfjtbkkzOowO® (o {§tosyy dzsC
sOC G dzizs e s s j OlsteO?
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% _100%

I yjdsd Ltedlsjd MSOY OkvHdltstdw Isj Olst
COL &z YyOj v 5 HOGEs®Ez Ctedlsjteds ( fd.
fsLotdddO Ltdlsj dvd fus ddESduorsls * ofyj of siplsidS
dzj 5 Lisdlsj dzr 20 HOdzdz 2 s dals L zOC 53 M
CsjHdd d 44,5% ©jfjclOwO Isj OO HEOC

v OB dzd yoO
t jMitsden j dalsr 5 Misjfjded L dzOC scsmlse O
(9 % ¢ ydmdazz wsle jlsdeh dar)

g COCt? wWPMHEBIl yjlvtese jdz@ L dzOC tsd3fmls
I oL dOCtsRdd " 9 [kZLCtsdkj ujOlsttO
My jClsOCdzd HOA BISEY
10% 13,4 9,9 18,6
20% 12,9 12,4 13,7
30% 14,7 17,0 11,3
40% 10,7 10,0 11,9
50% 18,1 17,8 18,0
60% 7,1 7,1 7,1
70% 6,8 7,9 5,2
80% 53 54 5,1
90% 3,8 4,2 3,3
100% 7,2 8,3 5,8
RIstsGg ts 100,0 100,0 100,0
vstoj Hdz) J L dzOyd| 46,1% 47,2% 44,5%

t jfjtebkzOtedzOw fsdzdsdS O Isj Ottt tsyj dzj
oj M sdeH j delsse MyudlsOels jj OkWYbSkdy dsigz.L
CsBjHdd (84,6%) d HBOR (79, 9%) H sz
toj dzgdzsmisd twjfjlszOdts?2 fsdzdlsdis? Isj Olstst
v OB dzd yoO
t jMytsden jdzlsr 5B tyjdCj 1 WWjCIlsdoe dismisd

" Pearson ChBquare = Valud 7,254(a), Asymp. Sig (2-sided 0,1; Cramels V=0,2.4 o Wfg &zO.8 O W
® pearson ChBquare = Valud,348(a), Asymp. Sig (2-sided 0,1; CramelsV=0,1. 4 o Wfy dzOB OW
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(o9 % € ydhmozk ke jlsdeh dn)

gduUsfOi sy dzd fe-| 1| yYyddJyd O tjtffjtelsk
dzzte fsdzdlsd ¢ £ - i ts [ELCtsd3] v j Oltc©
sdo dzets2 ? 9" BB
I O 40,8 44,2 36,1
#CBBtejJ HO, Yd 41,8 40,4 43,8
sCBBtej 4 dajIs, . 6,6 5,4 8,3
14 1s 0,6 - 1,8
1 OstelzH dzgv ¥ )+ S| 10,0 10,0 10,0
RIssG s 100,0 100,0 100,0
RdzH J & M 0,57 0,62 0,54

lrwodls! ftojlsjdeL dd Isj OlstcOdz! des?2 kB dz
FHOzsMm: . 1 ko jls dzO ottt cylsts o tstej
slso jlsMmMisalzjls | O dd3 § tols te3] lzztsidgla w2y d3" s @ jsek
dzj dzdz" §, ftesbsdoasstejuyder j, MmMsOldmisdyusmcd
hdy MtsHjty Odedr otftesmMO tlse jlisr . 4 BHdzs
syjdSts?2 Lidljdvdd +WWJjSlsdoedasMmisd M j
Oltcese . sHlspiBzeysts, H oaMmj?2 ojtsWisdshmisd.
fidtwmfjSlsde d dOftwOodzjdd? JjJ dL dBj dzj dedW™
or ms¢ .

t jmMftsdzH j dzlsr 5 MBH jty Olsjdz dz 7 d Sted !
MsydsSkzd! kztedzr » EMdzkze Isj Ottt

stesdj ogdzj dzd® o jioffjstg st Qe dzs 2 f sdzd s € j
jlsfw 90y de 5 MisH ey Olsjd df &5 OMY j S Istsl Is
detsh jdzdj S Hkedd jj MoHjtey Olsjd d & fC
Hj2Mmkadv IsjOkeO® d Liedljdv (Mdk. EOs 1:
MdsdOd d' & Ltdljd MSdr ByjdsS, sOSE2
qBj jd&5 Hjdts f HeMsOsyds dMCkh jdds2 O
Bsd P52 Ltedlsjd MSd2 Moy .

v OB dzd yoO
Kjdzj o OV OkHJIlststedw Isj Olstetseo HtOM3r ‘ddz'dglz L
MtetsdzOr dr MtsydsSkzdz Isktedzr = kMdziz e
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[ Odzdz” 2 Isj Olste [ Ol us-aCsg j |1/ |RIB{| Rdz-
tej 4| dad Is Gts| H C
PSCIsjtemMSdd Msmlses6] 219 | 3,7 | 1,11 8,7[100,0] 0,73
OClsjtotso
tindmMmEztets?2 579 276 | 3,7 |11 971000 0,69
jSsweOydw kd, ¢/645 20,1 | 49 |20/ 8,5[100,0 0,70
4 tSL HOdzdzts2 Is ezistg 50,2| 23,1 2,5 2,6 121,6/100,0{ 0,58
dzj ClIsdosd3 Ols d3ts i
[se jtodlsj dz' dz'tsk, | 45,8] 21,9 | 5,6 | 3,3|23,4/100,0] 0,51
dzOdz! dz' d3 H d Odzts G
Hso toj d3j dzdats Myls =] 44,8] 204 | 7,7 | 6,1]21,0/100,0] 0,45
®Bd §sdms Odd
[t OdzL Oydj 2 w283 193] 6,9 | 50]40,5/100,0/ 0,30
Ckdz sktedzr = Mmtss
{t OB tslsts? M HJJl§g 26,2, 11,8 4,0 6,1 51,9 100,0] 0,24
fjolszOttsds
ltej HMIsOoadd@3 MicOo ded s dz' dgr j L Ac@tsQ Tdg P to dsfy
HteOd3" d dizL " COdz! dets?2 SR HdI € toj > PRz
oIz, HiSsteOydw dz, SCtMmiss 3Od3. [ dgj dzd v ¢tls-j Ols
hdr MfJjSCsOC kY HOd o MotHds?2 ISOB&IyYyJ 1
v OB dzd yo
Ajdzj o OV OEHdltstedw Isj Ok tciste 3HH®PGR s df tdzkza
MstesdzOr dr MydsCkzd skztode' 7 kMmdzkzc
[ Odedz" 2 Isj Olsts [ O e S-aCtstdg] j |1/ |RIB Rz
ted 4| dad Is Gts| H] C
Il yjdzsdzs fts of Biste§ §
0SIsjtemMSdd Mtsmigde46] 219 3,7 [1,1]8,7[100,0] 0,73
OCIlsjtotso
tindmmEztets?2 579 276 | 3,7 |11 97100,0] 0,69
jSsteOydw i3, €645 201 | 49 |20/ 851000 0,70
[ Yyjde€d Ltedlsjdzz MECs2 OEkHItstedd
0SIsjtemMCd Msmigds57,8] 22,7 | 4,0 [ 1,1]14,4]/100,0] 0,66
OCIlsjtotso
{ iy dmMmEztes? 489| 31,7 | 43 |0,7]14,4/100,0] 0,62
rjSesteoydw igd, ¢[51,1] 26,6 | 6,2 | 3,3[12,8/100,0] 0,58
[Yyjde€d Ltedlsjdzt MEs?2 OkHdltstedd Isj O
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[ Odzdz” 2 Isj Olste [ Ol us-aCsg j |1/ |RIB{| Rdz-
tod 4| daj Is G5 Hj G

0CkjtemMSdd msmig702] 21,2 | 35 | 1,2 3,8 |100,0] 0,78
OCIjtetso

tddmmztets? 65,3| 24,3 3,3 1,5 | 5,6 |100,0f 0,74

[ SBteOyYydw did, ¢/754 148 | 3,9 |09 50/100,0, 0,80

Il yjdtsds Ltedlsjdzz MCOW OkzHdlststcdw tsyj dz
Mls@es, OCIjttmMCkzy detkz (tsdd ftdedzj COlsj dz
mMfjSlsOCdzj?2 (85,5%), HjSsOYydd, ¢ tsfgiss d3
CORtcdIlsjdzj?2 IsjOltcO HOR d dkzL '™ ¢ Od jdats 2
v ydd MmMedHjlsjdz Mlseakzsls & MdzOB SR tdrgoa®iz jd<
Is§ dz! dztsfyls OCkjttMS e MitsigbRPPiddss djSUsq ldgjf
tej 3 d ifz te ¢ BijfGdse dzj ¢ O loijjde a2 , ™) € 15 fif e fd3toie
Ltedlsj dz@ MSOwW OEZzHdlktstedw Isj OltcO® HtOMR§ -HJ
H s d3dzj dzdzts i ls - d dmSkh j dzdets s 9 HOdzdzO~ 9
stczHdzW 8 ! lso jlsdls! e (orhj & EkExj gldgj:
OlstcOdzisd@a® 2 difMlsOy YMmMjih jddY HOdses Isj Ol

rOdzjj] BROLOSkjtdLbjd lsdsh jdedi juj dz
Lizdz IsOlslz oL OddiisH j2Mlsadw IsjOtcO dd W-ttdls
WiSClkdodetsmisd jets HdOdseO Mt L totefisG dafddf ts
COdz; 1 WWjijClkdodesisd ttecOdzdL Oydd S kzdz szt

Cltsls M jCIlste MsH jtey Olsjdzt dzr = § OOy Ists
ftedd3d dedilsj dz! dets & GCwdegStej Isder d3 Isj OlsteOd3 ( Mmc

v OB dzd yo
KjdzjoOv OEZHdltsttdw Isj Obtetse HWim@dydzi § Odglg 1z
MtetsdzOr dr MsydsSbkzdz Isktedzr = EkMmdzkz e

[ Odzdz" 2 Isj Olste [ Ol e EsS-|aeCtstd1 J |1/ |RIB-| Rz
o J| dajls Gs| HY G

] Yyjd&sd & o' BGGS J

WL HOMGES? kastds0,2 231 | 2,5 | 26]21,6]100,0 0,58
&jSlkdosds Olsdgsf

[Bo jtodls] &z’ dg'sck, |45,8 21,9 | 56 | 3,3|23,4/100,0/ 0,51
ZOdzt dzr d3 H d Odzts G

® Pearson ChBquare = Valu@3,829(a), Asymp. Sig (2-sided 0,0;Cramels V=0,2.4 o Wfg &zO.8 O W
®Pearson ChBquare = Valu@3,391(a), Asymp. Sig (2-sided 0,0;Cramels V=0,2.4 o Wfy dzOB OW
" pearson ChBquare = Valud0,990(a), Asymp. Sig (2-sided 0,0;CramelsV=03. 4 o Wiy ts j Hfigz] @'
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[ Odzdz” 2 Isj Olste [ Ol us-aCsg j |1/ |RIB{| Rdz-
tod 4| daj Is G5 Hj G

stsotc) ) dzdats Myls 44,8 20,4 | 7,7 | 6,121,0/100,0/ 0,45
Bd fsdmé Odd

[tcOddL Oydj 2 w283 193 | 6,9 | 50 40,5 100,0] 0,30
Ckdr bktedzr 7 MisB

{ OB slsHsRls ' dgd, 41262 11,8 | 4,0 | 6,1 |51,9/100,0 0,24
fjtcszOted

[YjdSd Ldjd MCs2 Okndksedd

UGLHOMGMEE?2 Isdsidas2] 225 | 2,2 | 3,3]238/100,0 0,55
&jClsdotsd Ols &

[ 5o jtedlsj dz' dg'sR,|45,1] 20,7 | 4.4 | 4,4 |254[100,0] 0,49
dzOdz dzr d@3 H d OQdzts G

HBote) 3) dgdesmis g« 356 225 | 8,7 | 6,5 257 100,0 0,36
Bd fsdmé Odd

[tcOddL Oydj 2 W 257 159 | 6,9 | 6,9 44,6 100,0] 0,23
Ckd bkteder 7 MEB

{ OBslss2 M H4jl§19,0 102 | 51 | 7,7 |58,0/100,0/ 0,18
fjtcszOted

[YjdSd Ldljd MCs2 Okndbssiedd Isj O

UGLHOMGEE?2 Isdsidsl,8 237 | 2,7 | 21][19,7/100,0 0,60
&jClsdotsd Ols s

[ B0 jtodls] dz' dz'tsR,|46,4] 229 | 6,6 | 2,4 |21,7/100,0] 0,52
dzOdz! dz" d@3 H d Odzts G

sSote] i3j dedets s g&|52,4] 187 | 6,9 | 57 |16,3/100,0] 0,53
Bd §sdmMs¢ Odkd

[tecOdedL Oydj 2 w304 222 | 7,0 |3,3[37,1/ 100,00 0,35
Ckdz sktedzgr 7 fsB

{ OBGIss2 M HJjj8323 13,1 | 3,0 | 4,9]46,7|100,0] 0,33
fjtelszOEtd

[ COjtcddB zteemMSdj Isj Olster tolg i d.dffz,t M
odzj COsls Meatsdms Ltedlsjdzj?2 MtsLHOdzdets?2 § t50dzdz
sz s 9" BtsteCj 1 Ists tSlsBjlsddzs 73, 4 %tstej
dzOdz! dzf 2, Htso jtedlsjdz dz@ 2 HJOdzse Mts e Is |
sSOJ s, ylsts HAYj @lgtytsy dd Eas@)SlEj e dzO0 Misotde d3d
dMmSd (65, 2%) .
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l yjdzsd3 Ltedlsjdzd kZHtsodzj setstcj dz@ IspPLdd
Olstese C0OC weOddL Oydw W JjifMmlsdeo Odzj 2, tcOL
Jdzed fssLdlsdodets sy dzdo Ot Is  tesde j 5 zgzgrl 5
RZOf tcOo dzj dzdz" § dzO tWOB®IsE M HJlk! &3 (38, 0O
desmdlsj dzt des Hokr YoMmMdzijHnddrs §t5¢C0OL Olsj dzj 2
3 dz' " z¥ tsMme j H sd3dzj dzdzts M ls ¢ (Hts f sdztse ¢ dg
stsd3 dz20 ol jdffj tlszOtcO, {§tsylsd
BJZOEZO c¢MmMtsBr Isd2dzze e COdzgolz HjWIsj dz' detsfyls
WiMmMsde Odzj 2, SCtdete] Mmtse, dRBIHY joO™ 7 3] tot

[iYHE IsjOltcOdi3d J Mis! dzj S Blsstcr J tOL dz
Ltedlsj dztogzdiy figzts Mils d, dzts o Ols ts'fafin Cjdents  fd@Bitilsy o
HilbMSset B NjHgSOOdls j dzr S OY OkH dlsBtsc
sd ydz©®, yYyJ & fzedzdC O BzL Csd3j H] .

[ OdzjJ BBKOIddBMY ¢ toOmMmdislstc ded ® 1 dzj
sBd M judoOrh jAlsH WaGHfsddudsdw J ¢ tsiifistelsc
EHOtMmlse jdzdzr = MydosSkzdz skztedzr 7 EkZMmdzkz cdz- 5B ¢
dzr 4 ftejHMIsOodzjdz" o IsOBdzdyd 20.

v OB dzd yoO
1tedlsy dzd BB Slsdzsh jdzdd ¢ Btec OdzdL Oyd tsdzdz

MoydsSCkzdz sztcdgtsho Hfadfidy dls jdéida r € Odz! dzt

(o % ¢ ydmdzz wlse jlsdeh dr)

1 0MECsdzr €5 lrj{roueSCygae Sty j |1/ | RISt Rz
dz" ? HO | dzj Is Hj ¢

L O2 dzsds qoelsj td 681 225 | 53 | 1,1 3,0 100,0 0,76

Stsi3W stelsdetsmls & 541| 26,6 9,7 50| 4,6 | 100,0 0,58
L OdzO

scEhY sedsmls! & | 667| 230 | 51 | 1,8| 3,4 100,0 0,74
W2

{OBGslsB?2 BEW,IsS 451 21,7 | 132 | 6,5]|13,5| 100, 0,43

{OBtslkks? CGOteHJ te 68,4 188 | 4,7 | 2,0 6,1 | 100,0 0,73

t OBtslsts? Mmdzzy B "| 470 17,4 3,8 | 3,3]28,5| 100,0 0,50

{OBGlB2 S OMM 67,3| 21,0 | 43 | 1,6 58] 100,0 0,74

sssdBsmls' ¢ Bdd 563 286 | 69 |41 441|100, 0,63

4O2Issd3 s Oste®i 275| 164 5,7 6,5 43,9 100,0 0,26
des s & ZHtB g

2 pearson ChBquare = Valu€0,285(a), Asymp. Sig (2-sided 0,0;CramelsV=03. 4 o Wiy ts j Hfigz] @'
¥ pearson ChSquare = Valud9,437(a), Asymp. Sig (2-sided 0,0;CramelsV=03. 4 o Wiy ts j Hfigz] @'
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1 0MEsdzr €5 lrj{roOueSCgae St J |1/ |RIstHRAz
dz" ? HO | dzj Is Hj ¢
Isd o dzsfyls+ &
[Bhj2 Ckd Iskt®Ot 71,7 19,1 26 | 13| 5,3 100,00,79
dzd w
[ smiskf detsmiss ¢ 7 66,4 20,6 44 | 2,0/ 6,6 | 100,0 0,73

t OmMmMdsslsted d3 d3dzy dedw Ltwdlsjdzj?2 5 Istsd, o
mMiBY 9o fMmMisicOdznlsej Isj OO, Jjets LtedlIs]
21) . ltod or MsC sz ktetsodzy <t Misjlsdyj MEts2 |
Isj Olstese (90, 6% toj My sdzH J dzlstseo HOdzd fdsL d k
Isj dzd ykls' djdzj]J HBotdz dz@ CtdiW tstelsdetsls! &

1l smMEsdzr €k ¢lsj Oste dzZOydadzOjlsmw fm ojh O
shizhjddy Ct@WtstklsO, otsL e OO 2" & 4 Iz
Wts2j (89, 7% ftsdzsydlsjdz dz8 7 tyj detsC) .
lteddeydf Odz! dz = OL dzdyd?2 o Byjdbj- ¢ts
dzd?2 E Ltedljdzj?2 IsjObttse HteOd d &L ¢ Oc
v OB dzd yoO
1tedlsjdzd Bt CtiWtstclsdetsMisd ftejBr 90
(9 C%ydmdzz tslseo jlsdoeah dr)

1 0MECsdzr €5 lrj{roueSCgae Sty j |1/ | RISt Rz
dzr ? HO | dzd Is HJ {
l yjdzsds fts o BtsteC |
dL O2 desd3 ddzlsj tg 68,1 22,5 53 | 1,1| 3,0 100,0 0,76
SEdiW stels dzsmils ! & 54,1| 26,6 9,7 | 50/ 4,6 | 100,0 0,58
L OdzO
s B 3w tstels detg fiplds' B ¥ 66,7 | 23,0 51 |18/ 3,4 | 100,00,74
W2 g
fyd ¢ d Ltedlsjdz MEts?2 OkHdltstedd
dL O2 detsds ddzlsj tg 70,0 20,9 40 | 0,7| 4,4 100,00,78
SEdiW stels dzsmis ! & 578| 27,1 6,5 | 3,6 | 5,0| 100,90 0,64
L OdzO
S BB tstels dzts s & 65,6 | 21,7 58 | 14|55 100,00,72
W2 g
JyjdeSd Ltedlsjdzt MEts?2 OkHdltstedd Isj @
L O2 detsds d dzls § tg 66,4 23,8 6,5 | 15| 1,8|100,0/ 0,74
SEBdiW stels dzgs s & 51,2| 26,2 12,4 | 6,2 | 4,0 |100,0(/0,52

24



1 0MEsdzr €5 lrj{roOueSCgae St J |1/ |RIstHRAz
dz" ? HO | dzj IS Hj !

L OdzO

sEhRY slsdsmis’ 5 | 67,6| 241 | 45 | 21| 1,7 100,0/0,75
WS g

[ Odzj j cOMmdssisted d3 Bdzd dzedv Isj Olstc Odz! dzts
oM sdiisc OIsj dz dzr = Mz B Isj Olstetse ( M. Is ©
tcOBtslsts?2 COMM (88, 3%), Antslsw JdetscHOL -9 fi
By detsfisd dokEFEEHHlss @dzf sso-mjugded " dfoaBY @z
sOCY ] HMIOosCd BJddzj Istse .

MBtetsh OV tcOBBISO ¢ OtH jtesB O, 5 ddaj dad ¥
syj dets € ) , w9 dzw j Isfyw 9 Oy dats 2 MsmisO©o dzw 8 h j
fMdzzy " A tcOds (64, 4% BtsL dds d Odgj & dzG | @
dzdoh drfmw M tlse jlstsd) , 9 Y B fHYom IsOC
ofMmMjcets dzgj Hsoatsdz Mlsoa ® 9" LM 9a0B8ls BEWJISO- |
Btslsr (66, 8% tjMmMftsdzH j dzlstse EZHtsodzj se st ¢
Ltedlsjdz s EDOT B HdME W stecls Is W izdaS yd tsdac

[ Odzdzr | IsOBdZdy" 22 fsCOL"™ 908ls, yls+ts d
dets?2 CtsBBiHdd ftod dz2Odkzdydd dzi SBlstster ! £ sk
2" » f OtcOd3j stcOr C OtcH ddzOdz! dzr = tcOL dzd=@d 2
Isd dz' dz" = MmJtwoadmde = MdAzzx B dzj Is.

v OB dzd yoO
1tedlsjdzd s ttOBtsls] oM sdiice Olsj dz' dzr =
(o % ¢ ydmdzz wlse jlsdeh dr)

1 OME sdz' € s ITjir1OlaStstteCtstt] J |1/ |RIB-Rdz
dzr ? HO | dagjls GBS|H j ¢

l yjozsazs s o BsteC J

OBtslsts?2 COMM 67,3 21,0 4,3 1,6 | 5,8 | 100,0 0,74

OBtslsts? G OtH J tg 68,4 18,8 4,7 2,0 6,1 100,00,73

OBtslsts?2 Mmdzzy B | 470 17,4 3,8 | 3,3|28,5| 100,40 0,50

—t | et | e—t | —t

OBtslsts?2 BEWJIstg 451 21,7 13,2 | 6,5|13,5| 100,0 0,43

(Ui dCd Lidkjd MCs?2 OkzHdkstd(d

OBtslsts?2 COMM 62,9 211 6,5 | 2,2| 7,3| 100,0 0,68

OBtslsts?2 GOtHJ tg 625| 204 6,5 1,8 | 8,8 | 100,0 0,68

OBtslsts?2 Mmdzzy B | 49,6| 16,4 40 | 2,6 |27,4| 100,0 0,53

—t | et | —t | —t

OBtslsts?2 BEWJIsts 40,5 21,2 16,1 | 8,8 | 13,4| 100,0 0,34
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1 OMC sdz' € s lrTjirOeStstteSCtstty J |1/ |RIB-Rdz
dzr ? HO | daj IS G BS|H J ¢

fyd deSd Ltedlsjdz MEts?2 OEudltstedd Isj O
{ OBtlsts?2 ¢ OMmM 710] 210 [ 24 [1,2] 4,4]100,0[0,79
t OBtslss?2 G OtH j tg 73,1| 17,5 3,3 2,1| 4,0 100,0/0,78
t OBBIss?2 Mddzzxy Br| 44,9| 18,2 3,6 3,9 129,4/100,0|/ 0,48
t OBBIss?2 BEWjIstH 488| 22,2 10,9 | 4,7 1 13,4|100,0/ 0,47

]l SHoatsHY dbktse OdOdzdL & d3dzj ded 2 tej fdf -ts dzH
LOYydsdedezr » (Mjtcoadmder =) OMYf jSCIlsOa toj Odzd L ¢
tcOMmMMmdsslstcdd3 tsBtsBh O h dj ¢ 0OLOIjdd ¢kd
Isj OlstcOdz! dets?2 EMmdzzed (Md3z. IsOBdz. 23) .
v OB dzd yoO
1tedilsjdzd tsB BN j2 Ckdz skt tsB fMdzizndzz@did v
% ¢ ydmdzz wlse jlsdoh dr)
1 OME sdz' € s lTjiir1OleStstteCtstty J |1/ |RIB-Rdz
dzr ? HO | dagjls GBS|H j ¢
l yjdzsds s " BtsteC J
[Bhj2 CRkd sEt®OE 71,7 19,1 26 | 1,3| 5,3 100,00,79
dzd W
sy detsfmls: 8 I 664| 206 | 44 |20/ 6,6 100,0 0,73
slssd®smis: 8 Bdd 563| 286 | 69 | 4,1/ 4,1/ 100,00,63
[YyidzsCd Ltdlsjdzt MEs2 OEZHdbtstedd

[ Bh 2 Czdz szt 68,5 19,2 4,0 1,1 7,2 | 100,0 0,75
dzd W
sy desmis: 8 I 61,8 222 | 6,9 | 1,8/ 7,3 | 100,0 0,68
slssd®smis: 8 Bdd 57,5| 23,6 | 10,2 | 3,6 | 5,1 | 100,0 0,61

fyd deSd Ltedlsjdz MEts?2 OEudltsttdd Isj O
[ Bh 2 Ckzdz szt 74,4| 19,0 15 1,5 3,6 |100,0/ 0,82
dzd W
dlssd®BsMmis: 8 Bdd 554 32,7 | 4,2 | 45] 3,2[100,0/0,65
[ sy desmls: 8 b 70,2 19,3 | 2,4 | 21/ 6,0/100,0]0,77
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1tedls] d®EICdytstcdwy tsBda Isj Oltetse HOJIs
Ckdz sktey eMdzEydo Oddw (91, 0%) , Ylsts Mme
EytejyHjddw Ckdz skter wodzwe Isfpw jJ § &+ dzd «
tcOCIsjtedL zjIsmw Ltedlsj dzw &3d d jHsthmjls2z {f ozas@flsis d
omMi EmMmzscedw H&V Itsets, yYlstse’" BfMls! d&OMM
mMsd kEmMdzked ¢0O¢C MsddBsMmis! Bddzj Istse, dazj tSi
stse Mydlsosls JjJi f(ted] diddzj d3ts 2y te JSLOMHIE RIS 2H | HiIY
ltod {Istsdidddg spEdRadIs! , yYylkt toj Odz' dzf 2 s tsls
d issmis! Bidlsig swsjedzise § ¢ (58 MOBSBYJ dzb Od3) M

dbCIsdodetsmils! ftslstejBdlsjdz MSsEets ftsojHjdedWw
WOCIstster jj BBEMmMdzse dzde O h dj

1 OCIsdC O f slstdjceadjlsijjddzdiys tsoctds dsdzts e sS83- S
Isd o dztsfls+ & . Css SHddz L BOLB9"n YCOLO
fts wlsdetsh jdgds € EytejyHjdeds Clkdz' skterj.- v
v i3 Isj Olstcseo HiOd d dBkzL' COdz dets?2 C B3] +

v OByiA 24
tdMytsdeH jdals® 5 yOfMmbstsisj f§smjhjdz
(9 % € yYydmze wlse jlsdeh dr)

s CBdz €8 6OLJ 91 yd YyYOMstslsO fsMmjhj
OstcOdz' dzgsd3 Mi1| 55 8 [EZLECBAR]| vj OtcO
o0Odzd o Isj Oltej| Btsty

1 tOL 46,1 45,4 47,0

2-3 t0OL O 30,9 30,7 31,2
4-5tc OL 12,1 11,7 12,5

510 t©O0OL 5,3 5,8 4,7

10 d Btsdzjj t©Q 5,6 6,4 4,6
RIstsG s 100,0 100,0 100,0
vstejHdz J L d2OYd| 2, 9 2,9 tC 2, 8 tod

] ftHj ddsjte’'s Ltdljdvd kjOltt® Ht
o0&y oo culCtd C WAL ozl dsh dfes o
s kjOltj?e. 1 sdzyjdd j S sddyjflsssiddz
ulsd fsdsedds? Ltdlkjd MCs2 Obnudlsedd Is|
slsdkjlsqdd 45, 4% fumjlsdlsjdj?2 IjOkEpOlsiza
HieORr . v vp@fgls! toj MY sdeH j dzlstse o ff otsh didsdg L
©j32LOLO. SO)H'T2 ot ksd wOdls Jds Ofiafp!
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Bsdzj j 5 t©OL. 1 MejHdej &3 ydmazs 4§ tsfyj foj ded
dzv jIs 2,9 t©OL o MJjL Bda
Il ftesyjmMmj sd @ldzio ‘tesj dntf sdzH j dzls Odz L OH Oc¢
s WOCItsteOrn, Ctltter j odzdwels dzO OF€ Isdse dats
dz2r &5 Ltcdlsjdzjd3a ¢lr AatsHddzd B 9 Isj Olstz B
dz" | tojMmMftsdeH j delsOdzd My HjdedWw B dzd IsBjtdB h
dz" 7 MeyHjdd?2, SCtltster j ftojHMIsSOodzj dz o |
stsdz! €85 COYHT 2 HJMwIsr 2 Ltedlsjdzr dzj cEBIsts:
fsmMitsdz S, M jet btsySd Ltcjddwvw, datis-o
Misd o Isj OlstcOdz'ld jr CAficdede Glg | dzO- SHWIsmw
odzdwded jds dzj e OIsdodzr = WOCIststetseo, odzdwes h
dr S daZOmMMdW¥W dS Oydd wlyjldzdess {tesw o dzvdj-Is iV
mMwhdj daj { sitcj Hilse j dadets tsIs Ltedlsjdzw, o WC
v OB @d 9 5
{ jMysdzH jdzgls' & WY OCktsteOR, dzj ¢0Okdo dzts
fsmih Jddw Isj Olstetse (9 % ¢ ydmdz

ANOCIstster 1 yd 1tedlilsj dz2 & OwW
fs o' | [ELSCBBJuj OlstcO

1 JHEBMSOBS Mo tsB 51,6 48,0 53,1
14 JtedJ d3dzy B3O djigds 10,3 9,2 11,0
Istseo, dzj H EfYls1@IELES Y
1 ZHtsB Sy 34 Mists 5,5 4,6 6,4
[ Ozs ddzlsj tej mdz" = 51 4,6 5,7
1dLEtsy C0OyJ Mlse s 4,8 5,6 4,4
1 JHEBMISOIstsS ddgW 5 4,3 4,6 4,0
tcj ¢ dzOd3r
[IsmMEilsmMise dj Ctsdi3y 3,8 4,6 3,3

&5 h dzj dzdhy COsIS 5 jets
o] Mdes § M h Ols!

L Msslse j sMise d fz| 1,7 2,0 15
o’ &5, Isj kOISt
lsjdedw s Ltedlsj dzw

] &z~ OV OCIsj M G 1,1 1,5 0,6
1 ZHtsB d2tsy o t6 fF 3w 0,8 1,0 0,4
IsOC dzj 2

[ smiklsmiseadjy ot o0

sB tc] IsejEfvIstso g4 0,6 0,5 0,6

dzj s, HBMIsOa Cd B
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ANOCIsster I yJ 1tedlilsj dz2 MC OW
fs 9" | [ELSCBABJu] OO

liHEMEOBYdas P- ¢ 0,2 0,0 0,4
Mstesdzj 2 dL o Mlsd
Olstetse
1 jHBMIsO Y dzOY ¢ 0,2 0,0 0,4
LtcdlIlsj dz' dzse s L Od
MY EZ HBMIOIssydets 10,0 13,8 8,2
RIstsG ts 100,0 100,0 100,0

s dzd ydetsflsdz @3 W OCsteO®R lsdshwishw : dz.
(51, 6%), dzjbutsedsy d3j Mlsts ydlsj dzr Mishe-0 (
dzj dzdzd S s, ) Stlststets?2 BF dzts B d dzls j te jdff dzts
H d d, dzd ydesflsdz" | W OCIter trde tc GRdsydpod@s:fids -
sj OltcOdz! dzets?2 B odzd S .

AOCIstster Isj Olstc® dzj cOlsdodzs o dzdwe s dzd
sseo. GClsts, ftejyH] oMJGcts:

e dzj ftod J dgdzj BOW Mistsd BsMils! B ddzj IS a1, 5C-dzf K
Y d R10,3%;

setcOded Yg dedetsj yd mdztsi flélals j e j dz” = ff toj o3
e dzdL S]] SOy MEsd f sMisOdetso 56

e dzj HSMIsOIsS dda StedBO4[o. © wf R, toj ¢ dZO
[ fMMdzd oBLHj2Mlsotso Ols! dz0@ HEdiddzdtelz s isd j

tc " dzj 9 BL B dats sts WOCItste’ Isj Olstc® 3ty
ftejyH] ofjct,dddistd0 @dEsgkiry C Olsdo dzts?2 M
jEB HJjWIsjd detsfylsd.

RAZW St B3Oy sdgdgisdzd S Olsd o dzOY  d B H Y j
TOOCIsjtedMisdSd Isj Oltese o tsyj dzl ¢

rdv IsjObtetse L dzOydkO ftesse dzj O 1 Wi-j C k
Coyd2. [ woOmhdktsisted B Y& Y 8@ ©])s @i
sdodss? 1 WWjClkdodssiisd tj S &Od : M shss d
qdzs jtcjf), Brl! LOfdRddOj Bs2, §SBEYHOI!
fed2lsd o IsjOlt, fwumjlkdls: MfjSlkOoCd ).
MOLOCIsjtedL bW seBhbkY MdskOWEdk R6) B tsd
usts Bdjj (sdksedds (55, 5%) toj My sdeH j dals
6jC O Isj OO ftedodzj COls! o ded BOded jls- o
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o jtelsr 2 Ltedlsjd (24, 7% Muyudbojl, yYlss ts,
B Hdd dzj ddzls gefpj BEz@®d dz0s h Ow v, O € Oxpat’ 2
v ) o jltsd, §omMitd Ck di KBsec oMf tdd
Ctsfe jdzder &3 Y sSHIse jteyx Hijdzdj d3 JJ dzj L Of tsd3d daC

RAzW steBOIsdo detsfls! toj C dzOdgr tsyj dedo Of lsfyw
ddz steBOISfo dguIsOt s 61, 5% toj M tsdeH j delsts o,
18, 8% L OlstclzH dzd dzd M h tslse j Istsds. rhJ BfSC
fsBEHdISj dzt dzzs WEdeSyds toj SdzOR , jj Mt
5j Okte, ftMmilkdk: MfjClsOCd (64, 4%) .

skh jMlsokzt Iso e®Y gz d ™ S sBBEzdzd $ Ols d o dzts & s
Ltedlsjdv &3 sj Ote® dkzL ' COd des?2 S tBj mdd
Mis@o dzv jlsmw Isj OltOdz! dets?2 ke dzd S § 3j dgf
ZOvw , L Of s®BY z@uesQwfpy ls x j zoddj fted2isd o

v OB d2by O
it CdZOBBO Isj Oltetse HGOR d hizL '™ C Odz' dz
(9 % ¢ ydmdze wlsea jlsdeh dr)

{JSZOBO k1Ol alCtste] 1 jI§g 1/ {RIB-| R
HO dzd Is GIS|HJ G

] yjd&sd {c o' BBKS J

Rdzls j toj Maz®] 31,1] 244 | 14,9 | 9,8 | 19,8[100,0] 0,26
dsq zO ¥ h OW )

RzW sted3OIsd {349 26,9 11,1 8,3 | 18,8 |100,0| 0,35

{ Gy HOJIS 409| 235 | 83 7,0 | 20,3]100,0/ 0,31
fted2isd o

T 6dlsj &z MCOW Okzndlsd"Y & toj S d

R dzls j toj madz®] 232] 235 | 17,3 | 13,6 | 22,4 |100,0] 0,13
dsq zO ¥ h OW )

RdzWW sSted3OlIsd|29,2| 27,4 11,7 11,7 | 20,0 | 100,0| 0,25

[ BYHO] IS 354| 21,9 | 91 | 10,9 | 22,7 |100,0 0,31
fed2ld o

JGdlsj dz MCOY Okndbsed™Y 6 ] C &ZOd)

RS o) Mda®] 37,5 251 | 130 | 6,8 | 17,6 |100,0] 0,37
dsq dz0* " O iy}

RdzW sted3OIsd {394 26,5 10,6 5,6 | 17,9 ]100,0| 0,42

“Pearson ChBquare = Valu€0,795(a), Asymp. Sig (2-sided 0,0;CramelsV=0,2.4 o Wfy dzOB OW
' pearson ChSquare = Valud 6,357(a), Asymp. Sig (2-sided 0,0;CramelsV=0,2.4 o Wfy dzOB OW
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{ S ZOBO k[ Ol alCtstel 1 JI5 1/ {RIB-| R
HO dzj Is GB|HJQ

{ Sy HO}B &zO| 45,4 248 | 7.7 3,8 | 18,3 |100,0| 0,50
fted2Iisd o

l csHisdz) OW  tcOMMd3ts Is to j-Soas| df o zddadWs t<Crdsdg G \ligf- t5-dzC
MisdS HJjWIsjdzw desflsd Isj Olstese, tsBtcOIsd dghw
tcOdz! desds MO2AIsj (Md3z. sOBdz. 27MO2 s OME Y O §z0 |
fsdz Lz lshv 43, 9% OkzHdIlststed d . 1 ted yJjokg o
Cddzsd f sCOLOIsjdzvd@3d SO cotsLtcOMmMlse d ¢ tsB
ftcOo ddzs, L dzOydlsj dz dets yOh j dhf sdzr L Hgj-Is
BOYdd. st sPBHEszOYqdqy, BJjL Msdd dfv,
ASHd®BO St slsdzdeo O tOBISO 5 ¢ tod My da
CoOydd. l M B0 tsLdlsdeds ds wWoeodzw jJ Isfw  Issls
MO2Ils, MHj dZzOes jets Btsdzj j EH sEERVAE tcd Bd®daios
dzd , ColststceOW 9 jHjlsMw Isj OlstceOd3d o dzOMilstsw
Wstcdi3dteso Odzd ] drm f Bdzdetsyj dzdzets? C sd3dzzdzd € ©
dzd o j temOdz! dese s ddzMmistczdzj dzls© EZff tc©o dzj dzd W

Il yjazsds 43, 9% toj MY jsaEH | dztizd B tc 3@ sdBazjzts
fmis o tsd3, dgdzls j cOCIsdodetsmils: 86 MO2IO Isj OlstcO.
EPmMstcOdoOjIs. 1lwddydf dqOdz dzts?2 tcOL dzdyr o ¢
BzLr COdz des?2 CStsd3jHdd d HOd dzj ls.

v OB dzd yoO
1tedlsjdzd tsB LkZHtso dzj f®OR s Pdztizis Bls b Otc OF
(9 % ¢ ydmdzz wle jIsdeh dr)

1 OME sdz' € s ITjir1OlaStstteCtstt] J |1/ |RIB-Rdz
dzr ? HO | dzi Is GtS|H J !

l yjozsazs s o BsteC J

4O2Issd3 Isj Oste®i 275| 164 5,7 6,5 43,9 100,0 0,26
des s & ZHtB g
Isd o detsfiyls * ©

[Yj deS d L o dajndd IssesRd sj OS© O H

HO02ktd Isj Ow®] 254| 174 | 6,9 | 6,9 |43,4] 100,0 0,24
des s & ZHtB g
Isd o dztsfls !

[yj®Sd Ldljd MCs2 OkHdlstdd Isj O
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1 OMC sdz' € s lrTjirOeStstteSCtstty J |1/ |RIB-Rdz

dz" ? HO | dal Is G BS|H J ¢
402l Isj Oltcd:
dets fyls+ & | EHtse §l 29,3 155 4,8 | 6,3 |44,1|100,0/0,28

sqdo dzsls!

1 2O0yd dzr &3 Mtej HMsotsdz Wistcdzdtotseo Odedw ff tsl
Eidzzej wodzw jIsfqw tw©OB®BISO fMs wf[ R. 1 tdzyj !
Yyd Msets Mo jh jdzdw HjWIsjdzt detsfplsd Isj OlstcO
(Mdz. bOC 8 MSd todsoddkd Lttdlsj dj NS
tedLzjls jets COC ¢MtejHdzjje, BGdzij btejlsd

1JL MmMddzj ded v , f totsB dzj dBRH jtevOejtxi rdztsfipts d ¢
dZzOff oW 3z Mo w L Odz M tBh j2 MdkzOoydj2 o
fdysfo M f B MW  dzj cOlsdodz B3 Misjtej sisdf OB o
M Isd2. 1t oafMj?2 ojtwisdstsimisd, JjMmls!
tcOB tPRMdzzy B Isj Otetsea, HtojyHj ofjcts, 2 Is
JqdeW stc3sOydsdzdetscts tsBh jipsHBd1 @] ft j B O
COtcOdzsdtczY ddaW stcdzOydtsdader | HdoeodHjdeHT ,

v OB dzd yo
[ dzgjdzdj Ltedlsjdzj?2 ts COyjMmlsej Mo jh jdzd
(9 % ¢ ydmdzz wlse jlsdeh dr)

sOyd ml§y v j OBt H UvJjOlte BELI] yJ dztsdsts
lr Ml 12,2 18,4 15,6
4 tcj H dzj 43,9 50,2 47,4
1dL €5y 43,9 31,4 37,0
RIstsG ts 100,0 100,0 100,0
RdzH J €1 -0,32 -0,13 -0,21

RBGHYjO' j] ROLOSkjtdfisdsd IsjOltrs- o
skteder 7 ke L dkdedr . s tsdpd wWdisa Gz
), ddj¥hj2 30 ied Wiy st Hdzj dzdzr j  HjO-dzdz
GOR 1 d 2. [ujdy o' MsCdj §sCOLOL,jdd
(MtejHdaj j LdzOYjdedj 2,49) d &zL' COd dats?

14 GOIsd-8 dz' -2 -1 0 +1 +22,49 +3 1 sL dIsd o dzr 2
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O
11

JABO 1. RBIJH)Y IsjOtcO® HtOdR o ByYjdlj

1 4 GOIsd-8 dzr -2 -1 0 +1 +22959+3 1 sL dIsd o dzr 2

fen
11

jBO 2. R&BIHY dSPOIEUS] Bl ®Odeyj &2Sj yj

[ Odzd j, rOtOSIsjtedL Y ftojHMIsOo dzj defv L
Oltetse, d3¥ orf wWidzgw dzd d3dzj dedw yJj dzj ots2 ObkH
JeGtB HJjWIsj dz detsfyls! Mtsslse jlsMlselzjls f sldstej B
tcOdzt detse s dmEEkmMMmlso ® o tMimMdd d LO ks>

l yJjdzsdz toj Odz' dzf 2 ftsbtcjBdlsjdzt Isj OlsteO
CodeMlsOlIsdtclzjls or MsC ks Misjfjdzg Jj Mslso |
( ds. sOBdz. 29) . [ 5y dzts fiLtdL OO tg O Cudsittc dadOdz
dHjdsdWdsoydwy M Isj Otetsdy, dz wodzw jlgfipw ¢
sSztedzsets § SIstej B dzj ded Vv , -HusfipsOmaay> hy 2w I€ jzdiz!

v OB dzd yoO
[ dgj dzgdv toj My tsdzH j dzlstse 5 Mtslse jIsMmise d
f slstc] BdetsmisW dg 1otc§ls jydffmz tslso jIlsdeh

ststslso jIsmlsod| 1 O e 5-aCtstd 1 J L/ |RIB-| Rz
f slstcj Bdzsmlsw d ted 4 dzj Is GS|HJ ¢

v Olste HiO 61,5 28,5 4,4 0,4 | 5,2 100,0|0,73

vJ Olte dgzL r € Od 69,5 24,0 1,8 1,2 | 3,5|100,0| 0,80

] yjd&sd § or|660 260 29 | 08 | 431000 0,77

JYyd 2¢O tojmMftsdeH J dzlsOBBd By MIsO 5B dzOMis dz'
stedzts? YL dzd fsCOL OO, vyt dd (d.J-9 t
Hdd) t©OfmMyJdede O IlsmMw fEkzedzdis?2 C0O0C o Lf-ts5dz
odlsdw Isj OdsfipOziA) ifdses® o [ sMmdd (Md. kOB
mMisdH jdzlstse & yjdzsdz fts " BBKGS § , 73, 6%
842%-1sj Olstc® dikzL "™ COdz des?2 CtsdBBjHJ(]. RIsOC,
gqizdHy EytejyHjdd?2 Ckdz skzter , Mmistydt « jsds'ls tols &
ojlsmlsolzjls MOdr @3 or MBS dd3 Istcj BB OdzdWw 3 o C

v OB dzd yo
[ dzgj dzdw toj M tsdzhH j dzlsse s Mistslse jIsmise d(
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Isj OlsteOdz! degsets dmMEEzmMmmlsea © o t sMmdd (

ststslso jIsmMmlsodiL |1 O usS-aCtste JUL/|RIE{ R

odlsdw Isj Ol go| e §| dzjls GtS|Hj ¢
Mlse © o (&MMdd
s j Olte HiOM 37,9] 357 | 37 | 26 [201|10000,51

vJ Olste dBzL " € Od 56,7 27,5 1,8 1,8 |12,2| 100,0| 0,68

] yjdksd §t or|484 311 | 26 | 2,1 |158]100,0 0,61

b dzZOdztse d ydz' 2 off wCo@wAI$ jd2' ,f toj H Mis O 9o dfj-dzd
sstedd Cdzt sktedzsdz MIsOlskzmj B ZOMSdz ~
Isj dz desisd BkZteso dz¥ tw©WOLoadIsdw Isj OlsteOdz! dztsG ¢

v OB dzd yoO
tdMitsdzH J dzlsT B Mtstslse jlsMmisadd Isd Olste
s jtOBdz! dzsec s dMEEkMMmMlsa © L O ke iy (9

ststslseo jIsmisoadjL {1 O eS-|laeCtste1 JUL/ | RIE-{ Rz

odlsdw Isj Olstc)! ted 4 dzj Is GB|H J
Mlse © L O tekzB j Y
vj Olste HtOM 16,3| 15,2 12,2 56 |50,7(/100,0|0,12

vJOlste dBzL " € O 29,8/ 15,8 9,6 2,6 |42,2|/100,0| 0,30

I yjdsd §s o239 155 | 10,8 | 3,9 |45.9|100,0 0,22

1 sylsd ftsdzseo ddzO toj M sdzH j dzlstse L OlstelzH dzd dz!
Widgww LIsts Isjd3, vyt dzgi ddiitls HBMIsOlgsydz
OtcOd dtscts o OGP ®; &G j ydod dts dsdd
o Odzd ZOH oL By desfyls' ¥ MicOo dzj ded ™ ' Is j da
desmisd o (tsMmdd d LO twkejytsd3, dag B' dzd
5j OlteOdz dz 8 dMmS EmMmse 5.

vd B3 dey d3jdzj ., BEUGY Goy s EHeddedisy gz 4
COyjMmMlsots Isj OlstcOdz! dets?2 EkfMdzzed Mislse jIsMmise
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.t o) ?21 3¢ V{uvtrasRU]R | g AR [ 8t
veaf vl dm s{1Artuvyram 4161
Y rdrr{fevlpri13m [RLURuu[tEUIL suU
sutRrRYS O wlrtrfl{luesde [1] duuRr

] 1t lssd3 OLHjdzj B twOmMmdisslsedd d3dzj dad W
MsydsSkzd skted n EMmdze §tsdzyj B sdgmb o Jsdadz
MsjteMmMisolz Ckd skter d IsktedL &30 w9 j toH ditse ¢
Isrtej CBdzyjtolsder » BtecOdd 2Oy EizH sa & § O+ Gzts ¢
Bj dzd ctsMmizHOmise j dzdzOW OC OH j d&3d Yj MS Ovdz-W d ¢
ZOW HjlmCOw WJdzOtedtsdzdw, uLviKOd M2 € s
MSd2 yjdaste dzOwBHdzsets dmMCEMmMmlse O

[ dzvw  tojh jdedw ftsMmlsOodzj dede = L Baz@Y B~ dzd
ssHdS O, OdOdscedydzy j Isjd, Solstster j Hodd
sjd MCs?2 Okzudbtstedd § IsjObttOd ds?2 EkMmdkec

[lsdzetsh jdzdj Ltedlsj dz MCts2 OkHdlstedd ¢ t
Ctsdzgyj telsdzr 7 Btec OdzdL Oyd 2

[lsdetsh jdzdj Ltedlsj dz@ MCts2 Oz HlgdsSsjte d & s ifdz HAQ |
dzr = BB E&ZOMIsdy » Ctdzyjtelsde » BtecOdzdL Oy 2
hdj ftsCOLOlsj dzd :
e o j HisRRAzj dzdesmis! s twjff jtelszOte] Ctsdayj to
e qdzsjtojfm € tjfjtolskzOtk Ctdeyjtelsdats? tstocd
e Misjtf jdz@ L d2OCtsd3Misa © M toj f j tolslz Otectsds;
e 5Yjdz2C O toj kP desQQsdeyj tolsdets? st Odad

b dzOdzdL HOdzdzr 7 B bkteseo dzgj tsfMmo j H sd3dzs dadats
& 7 sEcOddLOoyd?2 (Md. kOsd 32) §s8C0OL' 9
bk Stdyjtelsdy & e OdzdL Oyd2 o) HiNlsOs
LOdEGdzor MBCd?2 kise jdd e jHsdgd ddshlsd
Bsddd (71,2% Sctes"ts dd¥ stoddcso Odzdes-n ¢

] tOBtslsjy ftddwisr Mzijnkzehd] MsCtcOh j d
4o jtcHdZto MC OV tcH J dzO0 uUtckzHBSo

CsmMkzH OteMmlise j dzdzOY OC OH J BBd yd M A d dzOte d3ts

4o jtcHdEZco MC OV EMkzHOteMmise jdadz { [ A

LIcOdz MSd?2 cetsMmMkzHOtMmise jdader 2 vite)] u€

LIeOdz MCd?2 yJ dzlste dzOGiS.H.dziS.G.15... LIBA | R
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dzj dedzts 2 wodzw jlsfpw kB dzdC O IsjOlste® 1+ MKOH
My sdzH § dzlstse ) .

v OB dzd yoO

t jMytsdzn j dzsT 8B Lktsodzj e j Hisd3dzj dz

Cdeyjtelsde » tsteeOdzdL Oyd2(e9 % ¢ yd

1 0MStsdz €1 yg ¢ I Mo J HsBAz] dzdztsils! 5
I Mo jHt B 9/ AddzOted3] & { [ Al Vic] U| U IA
tcjf jtolskz] BBBtGC

Jyidz At 159 34,6 11,3 8,0 10,1
Mtstetsh s 25,3 36,6 35,8 17,0 21,8

g tcj Hdzj 23,3 19,6 24,6 27,0 21,8

] dztsn 5 28,5 7,2 26,4 38,0 36,9
luddz fdz 7,0 2,0 1,9 10,0 9,4
RIstsc s 100,0 100,0 100,0 100,0 100,0
RdzH § € MM 0,07 0,47 0,15 -0,13 -0,07

15 MOty dzf O3 & fiparfjsHj g dfdisshizlOw 5t ]
cf dzcatsée d ¢ tsyg dz f dztsm ts€) ~nOOCIs] tedzO
1 MistcOH T (48%) d uvtOdz MEtsets yYJj dzlstc©® dzOte
COYHBGEB Yjbbojtlstsets Licdlsjdzw [ (RSBdBE&,- HY
Misslstew dzO@ o fMmj EMddzdw HOdzdzr = € sdzyj tisls dzr |
G ftoesHodY J dzdV ¢ sdrdgtizdad GO dzzEs s o jf Od o
ots?2 OkHdbtted]j?2 ftosHsdy Osls tsMisOo Olst Mw  +

Licse J dz Jdzsj i MO Ltedlsy dzj 2 SO Jlas@GE
COC d HdAdzw IsjOlstetse L Od3j tew dzipw dzOdzd - ff ts
Mistezdzd dzlsy (B OS] WsteddOdzdL so Odzdzsc 5  d dzle

SOCOW yOfjls! tjfjlskOoLd Ctdyjtrlsds? ttd
1 O ddalsjtej f?
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% _100%

I yjdsds OzHdltstedd ddusjtej fMdzO Bds-" Ow
COdzdL Oyd?2 (o MejHdzj B 53, 3% tjfjtelszOwO
fodsoddr t©jfjlszOwO W ddoicdsdd q &0 6 & G
(55, 6% jfjttbzOrs0), LvLOd Mt yj distcO

" pearson ChSquare = Valud11,675(a), Asymp. Sig (2-sided 0,0;CramelsV=04.4 o Wigts j Hfigj
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dzd jd&3 LH M wodzw jlsw ©sdzr ¢85 Isj Olstc 1 Mists
(45%) ddzlsjtoj mMdzO OEZHdIttedd ( M. s OB dz. 3
v OB dzd yoO
tdMysdzH j dzls' B ddas) pelge F BEFHPBREEZO
(9 % ¢ ydmazll sk jlsdeah dn)
sOCOw yoOmlsil yJ dzi Rdzsjtejm ¢ toj tfj
o' L" 90jIs g 9" BiStgAn d dzOtedgd | [ L] YU A
10% 8,1 2,2 - 15,8 7,5
20% 5,9 4.4 5,5 6,3 9,3
30% 13,1 11,8 16,7 15,0 11,2
40% 8,6 51 5,6 13,4 8,4
50% 19,7 20,6 36,1 | 13,4 20,6
60% 12,1 14,7 11,0 9,4 12,1
70% 13,1 19,9 5,6 10,2 10,3
80% 6,4 8,8 5,6 5,5 4,7
90% 4.4 6,6 2,8 1,6 5,6
100% 8,6 5,9 11,1 9,4 10,3
RIssg ts 100,0 100,0 100,0 | 100,0 | 100,0
dtejHdzy J L dz(Q 53,3% 58,6% 55,6%| 45,1% | 53,2%
glilsj q j dz L ZOSCtsdiimlsoa © M twjf jclszOtesdy ¢ 1

fle w L OdzdzOW
ftesyj dzlstso .

h € Odzr

l fLoSldsCs?

d n

t d MY sdzH § dzls Od3

s jdd”,

B' dz

4 COCE2 yYOMmb' ¢ w©jfjtclskOtcOddRn' i st jddls@r
Ctsdayj telsdzlzs tstce OdzadL Oyd s ?

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

1dfsmicj Hinlse j dedzesjy MeOo dzj dzadjy d3d ¥ HE Mt
Pieso dzé L OCdBMisea ® fkeddCd M tjfjklskOotst
HOdzdzr Ry to jdaOfds Oo dzv j sw dzj of sdzdzj S Stotej S k
Bsfmls! tjfjskOwd dLEyOj & & dOdid € Bdzyj
dn, OSCda, dzOftddj s, COC ¥ ddzOts i ded v
fj kOO s iils ts dazs € i@ ji s dats | Hj to el iz . j

¥ pearson ChBquare = Valu€0,807(a), Asymp. Sig (2-sided 0,0;CramelsV=04. 4 o Wiy ts j Hfigz] '
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R3) dzdets 54 IsStsdsz H OdzdzOW - OtcOSIsjtedmisdS
COYyjfmsea O bkEfMzEed, MStd! ¢t ftodLoOdzO 1§ st
Ctsdzyj telsdzr = BtecOdzdL Oyd?2 o toj OdzdL Oydd
MY stcdd totso O h j2 ifwslsictg ®@Ybd ' MC et 5B HJ
todd .

ulsjtfjdz Ldz2OCtdBMlsa O f tjfjtlskzOtesds ¢
SYjdzE O3 Liedlsjdzj?2 © vyYjdzsds By dts SR OwLOS
1 cOCIdSO fsmihjddy Ctodzyjtelsdy n &6 @dEE L (
fqw fsylsd f fosdsesddts?2 dn ttjf jttlskzOKO.

v OB dzd yoO
t My tsdzH j dzlst B kZtetsodaj L dzOStsdiMissa O ) to]
(9 % ¢ ydmdzl tslse jlsdeh dn)

g4 COCt?2 y®il yj¢ vty dedC sd3Miseo O M

szOO® I df " o Adqdz@te(a | /0] Yutch

d ', fshg BtE¢ ddd

Yyjtelsdzzy tsteg
10% 14,1 8,2 22,2 19,8 11,5
20% 13,1 15,6 16,7 9,9 12,5
30% 12,5 10,7 13,9 17,4 8,7
40% 9,1 8,2 2,7 14,9 5,8
50% 19,8 23,7 19,4 14,0 22,1
60% 8,1 8,2 2,8 10,7 6,7
70% 7,6 7,4 5,6 2,5 14,4
80% 55 57 8,3 5,8 3,8
90% 3,7 7,4 2,8 1,7 1,9
100% 6,5 4,9 5,6 3,3 12,6

RIstsc s 100,0 100,0 100,0 | 100,0 | 100,0

vtej Hdz J L dzG 45,6% 48,5% 40,8% | 39,8% | 51,1%

1tedlsj d MS B2 OFZHdltstedj?2 HORZO yjjd
fjtobkzOtdts? sz Gz s@yd Blstand. I1sOB dz. 3
COMOjlsmw WddkzOt®ksddd, $0O¢ coLtesdasXe
sdodes?2), ISOS d HjbmMSEts?2 (88, 9%).
v OB dzd yoO
t g M sden j dzlst 5B ByjdeSj 1 WWJCIlsdo detsldef to
GOdzd L Oyd 2 (s8 9% Isfd 0 dffdzkz

¥ pearson ChBquare = Valu®3,946(a), Asymp. Sig (2-sided 0,0;Cramels V=04. 4 o Wiy ts j Hfigz] '
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gudlOjlbj ddedl vyi| [yidSo ifjtsz0o
ezt fsdzdlsdClz| " o\ Adde® & { [ 1Vt YU BA
st OdzdL Oydd ¢4 Btste§ dits dzd|

r O 47,8 61,8 61,1 34,4 40,7
sCBjj HO, yJ| 332 205 | 278 | 418 | 30,1
S By jujds 8,0 6,6 2,2 5,6 9,0 9,7
14 s 5,6 2,2 55 6,6 8,8

1 OteH dz" s ' o 6,8 4,3 - 8,2 10,7
RIstsG s 100,0 100,0 100,0 | 100,0 | 100,0
RdzH j & M 0,56 0,73 0,67 0,44 0,42

Vtedlsjd MEOY ObknHdltstedy Isj OO 1| Mistcd
GO H dzs e 5 (FiQS BR@Isols@SC 3 j Hj Bisdefils o d oz Is
so st dedesfylsd tjfjtelbOtdts? §sddsdSs2 1 lsc

t My tsdzn jdzlst & MBHjtey Olsjdz dzr 7 d SKBG ¢
MsydsSkzd! skztedzr » EMmdzkze Csdyj tolsdz a

[ Odzi § & wOmMhsslisd dg' @zsdzd OH dIststed d
fsH jtey Ol jdz dz &7 ROwOSkjtedfisdsS Msydwskd
yd?2, Sttt j ftojHmlsOsdzjdr o kOBddyj 3¢

v OB dzd yoO
1tedilsj dz2 MEC OV OkHdItedw cetsmMikzH OteMmise j dzdz" =
ftcdodzy COIsjdz dz" » MsstesdzOr ds MBY(Jd

(9 % ¢ ydmdzk wlse jlsdeh dr)

[ OdzdzOW" CBBdzyj® 1 O e S-|aCtstd1 J |/ |RIB-| Rdz-
ydqw ftde dzj ¢ ted dJ dzj Is G| HJ &

t OBtslsts? Is® tsdzdfji| 61,3| 20,4 2,3 2,8 13,2/ 100,0| 0,68
otse (Bl jMlstese
mMsznd?2 d Is. H.)

sotteyy Mise sd3 M§-1s 40,0 21,6 | 7,4 | 9,1|21,9/100,0 0,38
f sdzdzd s j dzj 2, Mt

) od ¢ d&zOP j dedz” o5 | 458 180 | 8,9 | 6,6 |20,7|100,0] 0,44
Ctsdzdzj SIsd o O],

?® pearson ChSquare = Valug5,497(a), Asymp. Sig (2-sided 0,0;CramelsV=03. 4 o Wiyt j Hfglz] "
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[ OdzdzOvY Cdzyj®@L 1 O uS-|aC By J|1/|RIB-| Rz
ydw ftedoe dzj ¢ ted 4| dad Is Gts| Hj C

[tecOdedL Oydj 2 W4l4l 212 | 98 |54 2221000 0,42
Cbd skztedzr 7 MtsB

{ OBGIssS2 M HJI§+ 506 16,0 | 3,2 | 4,3]259]1000 0,53
fjtelszOtdg

Kj dzj &2Of tc Oo dzjorzd] 45,3| 222 | 6,7 | 3,4 |22,4/100,0] 0,50
B2 OBl Mt

) tsmoe j Isd ldsjpde'@yQ 44,4] 225 | 59 | 4,7 22,5 100,0 0,48
sjdz dzgts?2 HJwWlsj d

dlsBsMY j 2 Iss §559] 20,1 | 2,5 | 2,1 19,4 100,0] 0,63
L HOdzdzts 2 € scdzdzj €

oo o] d3j dzdgts s~ s|42,3] 220 | 7,3 | 5223,2/100,0 0,45
MEddd fsdms odd

59 j odlsj dz' dg'tsdg, |49,7| 228 | 4,1 | 2,3[21,1/100,0] 0,57
dzO dz' ez @Gdzts G s g - T
dzj d3

vsOBdzd ydzr j] HOdzdz" | fsCOL" 908 Ils Byj'ds ¢
Mes?2 OkzHdbstedj?2 HOMdM -~ f5¢O0LOIjdi2. 1|
Ctsdzyjtelsdzg' » BtecOdzdL Oyd?2, slHlhigicsds Is 08
tej M tsdgH j dglstse ), dr Edjdedj MtsLHOI! Qls®Bst
Isj dzt dgr 2, W jmMmdsdOdz! dz" 2 HdOdzse M L

 OHd &3 Btsdzj J fYoHicsBdkzY R OtOCIsjtedMmisdC
sted OdzdL Oydd. uvOSC, HV) dadsy2Ac H@LSD HNS dsP)-jc s
dzdd (Md3. IsOBdz. 37) Ctotsdzy EZC OL Odzdzr = o1 h |
syjdzC O Ltedlsj dzv s ko tstoyj Mlsoa © ¢ sdzC to jdlsdzr -
G dzOM j dzdzr 7 2O cEOfMmlstetsdzd Ctsdzdzj Slsdotso ,j -dMmt
dzd o YW Isstcc Odzd L Oyd tsdzdzO% OB BISO, Mo w L OdzdzC
Ckdz! sktedzgr » MsB" Isd2 (70, 3%). ) tdlsj dig .
¢Cd, MmMtsotcj di3j dedetsfls: (68, 4%), HBsecsOmyf jC
dzzs HjWIsj dzt detsfyls: (61, O0%osils 5% dzzidzO ff te OB &
(66,9%).

v OB dzd yoO
1tedilsj dz2 MC OW OEZHdIltstedwYw w9 jtoHEEB MES2
Wdz0tedssdzd d B fftedodzj COIsj dz dzf = Miststets dz

(9 % ¢ ydmdzz wlse jlsdeh dnr)
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[ OdzdzOVY Cdzyj®@L 1 O uS-|aC WL j|1/|RIB-| Rz
ydw ftedoe dzj ¢ ted 4| dad Is Gts| Hj €

it OBtslsts?2 Iseo st} 70,8/ 20,1 0,6 0,6 | 7,9 1100,0, 0,80
otse (BC jMisteso
mMlszHnd?2 d Is. H.)

sottyj Mise sd3 M§-5519 182 | 85 | 6,5 |14,9100,0 0,50
f sdzdzd s j dzj 2, Mt

) tod ¢ dzON j dgdz’ o8 |62,7| 144 | 7,2 | 3,9 |11,8/100,0] 0,62
Csdzdzj Clsd o O],

[tccOdedL Oydj 2 %469 234 | 9,7 | 45 |155]100,0/ 0,49
Ckd sktdr 2 Mmtss

K j dzj dzOf tc Oo dzjdezd] 48,7| 18,2 7,8 | 7,1/18,2/100,0| 0,47
dzs?2 tOBBIs2 M

) csmoe j sdlsj dz @y 42,2 188 | 84 | 7,8 |22,8/100,0/ 0,40
s j dz' HigsRls j dz dats i)

{ OBGIss2 M HJI§+305 149 | 7.1 | 9,7]37,8/1000 0,25
fjtcszOtdg

dlsBsmMW j 2 Iss §57,8) 16,2 | 52 | 2,6 | 18,2/ 100,0] 0,61
L HOdzdzts?2 € tsczdzj S

#tso toj d3j dadats s (458 229 | 7,8 | 3,3[20,2/100,0 0,50
médad fsdm Odid

[ 50 jdlsj dz dgsds, | 53,2 20,8 | 52 | 3,9)16,9]100,0] 0,57
dzOdz dzr d@3 H d OQdzts G

rdv Lidlsjd MSs2 Okndlsstedd HjlMCdE2 W
odzjCOjd d7F jj ©jfjtlbkzOk, GcOddLOydw
(71,7%), fs¥jmMhdsdod d 2 (72, 7%) dftsH!
sjd MSd2 §OWEHh SBLOLBO OS] d dgs?2 Hj Wl dz
dj 2O ©Oo dzj dedets OBl OL! fMs Ltedlsj dzj &5 ( 6°F

v OB dzd yoO
1tedlsj dz2 MEC OV OkZHdltedwY oo jlsfhUsd MK E&O tc dgth
s ftedodzj COIsj dzt dzg' » MbtstetsdzOr jj M
(9 % ¢ ydmdzz wlse jlsdeh dr)

[ OdzdzOVY CtsdzyjBE T O oS- uCts5te] j|)/|RIB- Rdz-
ydqw ftedoedzj ¢ tej J| dalls G| H] C
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[ OdzdzOvY Cdzyj®@L 1 O uS-|aC By J|1/|RIB-| Rz
ydw ftedoe dzj ¢ ted 4| dad Is Gts| Hj C

t OBtslsts? Iso stcj 43,2 18,2 6,8 4,5 127,3/100,0| 0,44
otse (Bl jMistcso
mMlszHnd?2 d Is. H.)

votsteyl Mlseo sd3 fi§-512,2| 14,6 17,1 |12,2143,9/100,0, -0,02
fsdzdzd Isd dzy 2, Mt

) tod ¢ &zOh j dgdz’ &3d |23,1] 7,7 | 10,3 | 7,7 |51,2|100,0] 0,14
Csdzdzj Clsd o O,

[tcOddL Oydj 2 W 357 11,9 | 16,7 | 2,4 |33,3/100,0] 0,07
Ckdz sktedz 7 fss

A j dzj dzOf tc ©o dzjdezd] 41,5| 24,4 2,4 | 2,429,3/100,0] 0,50
dzs?2 tOBBIs?2 M

) esme j sdIsj dz @558 209 | 2,3 | 23 18,7/100,0/ 0,63
sjdz dzgts?2 Hjwls] d

{OBGlss2 M HJl§~- 761 87 ~ [ 4,3]10,9/100,0] 0,76
fjtelszOEtd

dlsBsmY j 2 Ise §67,4] 43 | 22 | 43 21,8/100,0 0,64
L HOdzdzts 2 € scdzdzj €

4o tc) 3] dgdets s~ ¢ 455 250 | 6,8 | 45 |18,2/100,0] 0,50
MEdwd §sdms OBd

[ Bo jtdlsj dz dz'tsdk, |59,1] 13,6 | 2,3 | 4,5]20,5]100,0 0,60
ZOdz! dz¥ & HdOdisc
dzj o3

1 EBd&zdC O kjOtc® | MstcOH' EHGsEIsPEde 8@
ptso (B¢ jMmsiese, OdNOBBAj?2, MiskHd2 jd¢ Is.
dd Mt Ledlsjdjd (77, 2%), bkostyjMSks O

rdv Ltedlsj dz MC B2 OkHdlststsded iy jHdgls ! ey
jets fesfojlsdljd MEOY, SeBLOLEO Olsj dsdzOW
HOldzO Isj Otz LO vyj dzj &zOf tcOo dzj dadzglz® , 1 tsfylk

v OB dzd yoO
1tedlsj dz2 MC OV OkzHdbttedwY vicOdz MEBEts G
s ftedodzj COIsj dz' dz" = MststetsdzO- j e Mt
(9 % ¢ ydmdzz wlse jlsdeh dr)

[ OdzdzOVY CtsdzyjBE T O oS- uCts5te] j|)/|RIB- Rdz-
ydqw ftedoedzj ¢ tej J| dalls G| H] C
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[ OdzdzOvY Cdzyj®@L 1 O uS-|aC By J|1/|RIB-| Rz
ydw ftedoe dzj ¢ ted 4| dad Is Gts| Hj C

t OBtslsts? Iseo stej 61,5 21,0 2,0 5,5|10,0|100,0| 0,66
otse (Bl jMistcso
mMlszHnd?2 d Is. H.)

o Bleyj Mise sd3 §-540,8 224 | 50 |10,9]20,9]100,0] 0,46
fsdzdedlsj dzj 2, Mt

) tod G &zOh j dzgdz” ogq |44,7| 201 | 80 | 8,5 |18,6/100,0/ 0,42
Csdzdzj Clsd o O,

[tccOdedL Oydj 2 W41,2] 211 | 10,6 | 8,0 19,1/ 100,0] 0,39
Cbdz skztedzr 7 MtsB

K j dzj dzOf tc Oo dzjdezd] 54,3| 18,1 6,0 | 1,0 20,6/100,0 0,59
dzs?2 tOBBIs?2 M

) esmoe j s Isj dz @G 48,7 200 | 4,6 | 3,6 |23,1100,0/ 0,53
sjdz dzgts?2 Hjwls] d

{ OBGIss2 M HJI§+ 648 146 | 2,0 | 1,0]|17,6/100,0 0,69
fjtelszOEtd

dlsdBsmMW j 52 Iss 5602 204 | 1,0 | 1,5 16,9 100,0| 0,68
L HOdzdzts 2 € scdzdzj €

Hotc) B) dzdats s~ | 457 21,1 | 6,5 | 4,0|22,7]100,0/ 0,49
MEdwd §sdms OBd

[0 jtedlsj dz' dg'tsR, |53,3] 239 | 41 | 1,0|17,7/100,0] 0,62
ZOd dzr &5 HdOdsE
dzj o3

rdv Lidlsjd MEs?2 Okndlstdd uveOd MSsd
sOBdz. 40) ROLOCIjtedzd of MBS OW yj dS O t
(5©CjMsiess, OdNO&Es A2, Mskud?2 d Is.
SBLOLEBO O] d dgts?2 (67, 7%) , sy s 8x
fododzj COjls HjkMCd?2 t©jfjteskOt., yj dj dof
(66,0%).

v OB dzd yoO
1tedlsj dz2 MEC OWY OkHdbttedwYw vteOdz MEteB
s ftedodzj COIsj dz' dz" = MststetsdzO- j e Mt
(9 % ¢ ydmdzz wlse jlsdeh dr)
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[ OdzdzOvY Cdzyj®@L 1 O uS-|aC By J|1/|RIB-| Rz
ydw tftedoedzj ¢ tod J dzd Is G| HJ &

t OBtslsts? Ise tstec4|57,3] 20,5 2,9 1,2 |18,1/100,0| 0,65

otse (Bl jMistcso

mMseud?2 d Is. H.)

veo steyl Mlse sd3 fi§-5 35,1 25,3 6,9 8,6 [24,1/100,0, 0,36

fsdzdzd Isd dzy 2, Mt

l tod @ d&zOh j dzdz” dsd [37,1| 21,2 11,2 | 6,5|24,0/100,0; 0,36

Cdzdzj CIsd o Od3d,

JteceOdzdL Oydj 2 W 382 218 7,3 3,6 | 29,1/ 100,0| 0,42

Ckdz sktedz" » MtsB

Aj dzi dzOf tc O dzjddzdi 32,5/ 30,2 7,7 3,0 | 26,6/ 100,0| 0,41

dzs?2 tOBBIs?2 M

ltesme j sdlIsj dz' @-§| 38,4 29,3 6,1 3,7 22,5/ 100,0| 0,46

Isj dz! dzgts2 HJWIsj d

t OBtslsts?2 M HJI$*+ 450 21,0 1,9 3,1|29,0/100,0| 0,52

fJklszOsd3

dlsdzsmMW J ets2 Iise t545,2| 28,0 1,9 1,9 | 23,0/100,0| 0,69

L HOdzdzts 2 € scdzdzj €

4S9 tc] d3) dzdzts s ©| 34,0/ 21,6 8,0 8,6 | 27,8/ 100,0| 0,32

MSdid fsdms Odd

s jtdlsj dz' dg'tsdg, | 39,5| 25,9 3,7 1,9 29,0/100,0, 0,47

ZOdz! dzf d3 H d Odetsa

dzd d3

[Odzjj ®©BEOIdBNY ¢
B j MY jyudo Os h j 2 olMi jtedle dseddzts fiyfls ' € 5 d3¥ s to g dlzts )
bHOthlso j dedzr 7 MsydsSbd sktcdy -
ftcj HiMlsOo dzj dz’

[ BB jdadets 1 Isd

HOdzdz" J

1tedlsj dzd BB tslsdetsh j dzd d
Msyd s @ |z ¢

COMmBElste] dds | dj

bz ¢ ts¢

v OB

9

dzd y ©

¢ BtcOdzdL Oyd tsdzdz
Cdzyd telsdz’ n

stce Odzd L O

(9 % ¢ ydfmdze wlse jlsdeh dnr)

10MEsdz €5 1" E| 1O eSSt 4|1/ |RIB-Rdz-
toj J| dad Is GSHJ

r dqL 02 detsdgz q dzls§ o4 71,9 193 | 2,8 | 1,2 | 4,8 | 100,00,79
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10MEtsdz €5 17 k| 1O ueB-{ulCt J|]/|RIB-{Rdz
tod J| dad Is GtSHJ G

St Stelsdztsmlis ' & 69,4 17,2 4.3 0,9 | 8,2 1100,0/0,74
L OdzO

SR stelsdsmis! & 69,3| 19,3 | 54 | 1,4 4,6 |100,0/0,75
W2

t OBtslsts?2 BEWJIstsg 43,6] 14,7 4,3 | 4,7 |32,4|100,0|0,44

t OBtsIsts? G OteH j tetf 72,1 16,7 24 |12 7,6|100,0/0,78

{ OBslsts?2 Mmozky B | 615 158 | 2,1 | 2,8|17,8/100,0/0,66

{OBkB2 COMM 68,4 143 | 2,8 | 1,6 |12,9]100,0/ 0,73
glstsq Bsmis’ ¢ B JdzJ 46,8 240 145 | 6,1 8,6 | 100,0| 0,45
402 s d: d dzW st 36,6 151 | 3,3 | 58 |39,.2]100,0/ 0,37

EHtsBMise sd3, d dzlsg

[Bhj2 Cbd skwa 701 183 | 1,7 | 1,2| 8,7 |100,0/0,77
dzd W

[ smisz{ dedigiz esd 66,1 18,7 | 51 | 3,0 7,1]100,0/ 0,70

[FOOSIsjtedqLizjd3 BtsdzjJ] ftsHtesBds CQ@PY HE
Cd Lt ddv Glsdtsh j dedw L tote(dsQ ddzf L@ s ts dgxtiz’ Hag IS(
OMmf jSIsOd3 JjJ HJWIsj dzo detsfilsd .

[ dz o J tcH dzseo ME 82 e tsmizH Otcmibd gz@adztz® dA&od O+
sjtode tyjdsz or MsCdj tyjdSd ofmjrn OMyj ¢
Isj dz desfplsd (70 d BBdzj ) fHtesyjdzlstse OHHdIs
J a3, f sy Odzlz 2, sOCdr BCOLOLjdzj2 C0OC ¢t
cddzstv sStcdzOls d ofgdtsentis,’ ,  dzlsi JsStBOC Isd o dztsils! MO Is C
Cdd ByjdeSd OkzHdltstedd.

RL fHjtojydmdzj dgdzr = ftsCOLOIsjdzj?2 dzj sBnrt
ofmMjiet, dO YCOLOLjd c¢MmistsdBshlis: B g elzj Is
Iso Bstoj dedzsfls! E COYHBEB HOBHEHGEHB 2 MY SdzH j C

v OB dzd yoO

1tedlsjdzd wojtocHdZoMEts?2 ctsMizH Otmilse j dzadets 2
Slsdesh jdzdd ¢ BteeOdegdL Oydsdede @3 ( M teo d ).
Cdgyjtelsde & ke (o % § ydfdk

1O0MEBdz €5 | 1 Ol SsSB4/ RIB- Rz
PHtso dzj Iso stg HO | dzd Is S| G| HJ G

L O2desds qazsj d 71,4| 24,0 | 19 | - |2,7]100,0 0,83
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stk stelsdztsimis: s [ 623 247 [ 52 [1,9]59[100,0] 0,58
L OdzO
St Stelsdztsmlis ' & 63,0| 234 7,1 1,9 1 4,6| 100,01 0,58
Wis2J
{t OBtslkts?2 BEWjI© 37,8] 221 | 7,1 | 7,1259100,0/ 0,38
{t OB BEEGRH j tctsB O 62,3| 22,1 3,9 1,3 10,4 100,0| 0,70
t OBBIss?2 Mddzzxy B r| 51,9| 22,7 4,5 1,3 19,9 100,0| 0,60
t OBBIss?2 C OMM 62,3| 19,5 5,8 0,6 [11,8 100,0| 0,69
dlssd Bsmis: ¢ Bdd 37,0] 292 | 18,2 | 589,8/100,0/ 0,37
g4 02 Istsd3: d daW tstg 46,1 | 17,5 4,5 | 5,2 (26,7 100,0| 0,47
EHtsB fMise sd3, d dzls
[ Bh j2 Ckzdz szt 70,8| 18,2 3,2 1,9 | 5,9|100,0/ 0,76
dzd W
 siskzf desils* ¢ 7 60,4 234 8,4 | 3,2|4,6/100,0| 0,65

4o jtoHdZzce MC OV ¢ Mz W ddlcaiisdai®v  Higjlinidsd
Mod] (tomMistwdadesets fsd3jh jdadw (i totsfip-
G ] BsdISO LHOdRWY HijlkMEts?2 WddkoOtedssdizfd) ,
¢d LtcdIlsj dz ¢ 52 OzHdIsted d LO Bt Odzd L (
IsOB dz. 43)J. dzedrifiglg dzsry ! MlsOdzd §sLdydd,
OzHdlsstedd MmMdztsy desmisd o tsyg dz€ j : tcOB 5Is O

L OstczHdzd o h dr Mw

hgrfw ) slojltd) .

1 B6d s dzd

m Bbejlbtg),

tcOBtSIsOo B EW

49 j to HOdptidshy ) SRR s kg Hs 1) € 152

SeOdzdL Oydesdzdz” d3 ( MJ teo d Mdzr &)

v OB

w
w

dzd y ©
d &zOtc d
Ofmf j CIsOd3

EmMdzke (9o % & ydmdkzk ke jlsdeh

10MEBdz €5 17 EH 11Ol uS-aCtstq1 J|)1/|RIB- R JZ

ted 4| daj Is GBHJ Y
L O2 desd3s d dzls§ te4 68,1 23,4 | 8,5 - - 1100,0| 0,76
SR stclsdzsmils* & 68,8 22,9 - - | 8,3 /100,0|/0,80
L OdzO
SR stclsdzsmils* & 65,4 204 | 12,2 | 2,0| - |100,0/0,67
Wits2d
it OBtslsts?2 BEWjIstsg 37,00 19,5 2,2 | 43|37,0/100,0/0,41
t OBtsIsts? G OteH j totl 653 24,5 2,0 - | 8,2{100,0|/0,80
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10MEtsdz €5 17 EH 1O ub-ueCtstiy J |1/ |RIB- R dZ
tod J| dad Is GtSHJ G

t OB BIss2 s detOs ' 38,3| 23,4 - 6,4 | 31,9/ 100,0| 0,46

{ OBslkts?2 ¢ OMM 735 184 | - - | 8,1/100,0/0,83

dlssd BsMmis: & BdJdz 64,4 289 | 6,7 | - | - |100,0/0,76

g4 02 Is50d3: d dzW¥ stg 46,8 21,3 8,5 |10,6|12,8|100,0|0,43

EHtsBMise sd3, d dzlsg

[ Bh j2 Ckdz Iskte@ 83,0 10,6 6,4 - - 1100,0| 0,85

dzd w

[ sMiskzq desmis: 8 &1f 72,3 149 | 10,6 | - | 2,2|100,0/0,75

4O § o' MBBCdy ByddSd mMeijHd oMmMjrtel sd

COdzd L Oy d ts dzdzOW

sotstej dedzsMls! j¥ FO©wOCljtedz® Hdzw 90% toj M

16 OdzOdzdL j HOdzdzr & o' L' 90jls daj HiSk]
@O ftojStOmdy 2 MOl Stdeyj elsdas? tste cP-dzd L
g o GyjdS,j JjEt OBl , Htkcddidls@ds
MisOldmMsds O ojM! GO CttOmdstej ydoa O d Wodw,
5j OO, MCtd S5 §sSOLOjdjd Masy 8L d-
5dS ddz¥ cicthBiggEdgEOlsdo dZses oL Od B3SH jj2fls:
dwkd Skd sktr .

(Md o dndzO")

Hd Wisy dz detsfls:

v OB dzd yo

1 tod stgekzdtsisdzts jdzgdd € Bted OdzedL Oydsdzadzr d3 ( i,
MesydsCikzd sktedz" =« EMdzke vicOdz MEBEB G
(9 % ¢ ydmdkzk wlse jlsdeh dr)
10MEBdz €5 17 EBH 1O uS-aCtstq1 J|)1/|RIB-| R JZ
tod 4| daj Is GBHJ |
dL O2 detsd3 d dzls § te4 88,6/ 6,0 - - | 5,4 |100,0| 0,92
SEdiW stels dzsmils ! & 84,8/ 6,1 2,0 - | 7,1{100,0|0,87
L O dzO
SR stclsdzsmils* & 80,7| 13,7 2,0 - | 3,6 | 100,0| 0,87
W2 g
it OBtslsts?2 BEWjIstsg 57,9 4,4 4,4 | 1,1|32,2|100,0|0,57
it OBtslsts? G OtH j ot 84,5 6,7 3,1 - | 5,7 | 100,0| 0,86
it OB sfisdel2y B A tc@ 81,2 3,7 - 3,1|12,0|100,0| 0,80
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10MEtsdz €5 17 EH 1O uS-ueCtstiy J |1/ |RIB- R dZ
tod J| dad Is GtSHJ G

{ OBlsts2 ¢ OMM 76,8 82 | 21 | 21]10,8/100,0/ 0,78

s Bsmis: ¢ Bddzj 49,7 21,1 | 156 | 6,0 | 7,5 | 100,0| 0,41

402553 ddzW std 357 85 | 1,5 | 7,5]46,8/100,0 0,32

EHtsBMise sd3, d dzlsg

[ Bh j2 C Iz dz Bldijaidds 73,7| 15,2 - 2,0| 9,1 100,0{0,79

dzd W

[ sMiskzy desmis: ¢ E&f 77,7 109 | 26 | 1,6 7,2 |100,0/0,80

[t Odzd L Oyd tsdzdz" | (fmd o dmdz j) 0]

b f) dzkz @

ssydes o e dsEl.yj S d

& yd 20 o dz j

Vtedlsj dzd 8

o mw

d fsLdlsdoedz |

tslsdztsh j dzd d
MsydsSkzd skztd A

mydsls

LIeOd MStsEts Yj dzZstc® &ZOtetsH dzsE 5 O f €

Hjwlsjd desilss- 1 Is
syd dzCd Ltedl

v OB dzd yoO

¢ tstec Odzd L Oy ts dzdz"
b ) dzlz @

L @A’ EAffRiEsco O Yy

(9 % ¢ ydqmdzk wlse jlsdeh dr)

10MEBsdz €5 17 EBH 1O uS-uCtstq1 J |1/ |RIB-{RdAz
ted J| dad Is GBHJ |

[ dL O2 desd3 d dzls § t64| 54,7] 29,1 50 | 39| 7,3/100,0/0,63
SEdiW stels dzsmils ! & 58,8/ 21,5 73 | 1,1|11,3/100,0|0,63
L OdzO
SEBRW stelsdzs s 63,1 21,6 57 | 2,3| 7,3]100,0/0,69
W2 g
t OBtslsts?2 BEWjIstsg 357 17,8 2,3 | 6,3|37,9/100,0|0,37
it OBtslsts? G OwHJj 6t 69,1 20,8 06 | 28] 6,7]100,0/0,76
it OBtsIsts?2 Mz B 54,4/ 21,1 29 | 2,9/18,7/100,0/0,61
t OBtslsts?2 € OMMm 62,9 15,4 1,7 | 2,3(17,7|,100,0| 0,67
dlstsd 3ssmis: & Bddzy 47,4 21,4 | 12,1 | 8,1|11,0{100,0/0,43
4 02 Istsd3: d dzW¥ stg 26,3| 18,7 29 | 2,91]49,2/100,0/0,31
FHisBMlse sd3, d dzlsj
[ Bh j2 Ckdz Islkzte@f 61,8/ 24,0 1,1 - |13,1{100,0/0,73
dzd w
 sMiskz{f dzsmils+ & Efi 56,6|] 24,3 3,5 | 52|10,4|100,0|0,62

48



] 1lstd ©OLHjd&j Bfd ©COMMEskic, d O-fit

dw yjdzjots?2 Okndltsttdd Stdyjtlsdy & e O
yOljd dF ° d BcOddL Oydsdd = OMf S kso
tod dedztsisd € OC Ise thig e ifMdazdzd BT tc § dzO0 dzd
Efdkz e d .

l 3§ Mlsyg M Isjds, BHdddB dLr L dz2Oyddr = § ¢
Bl jCIk §ltejBdjddw wodwslsmw dzj Istsdz €1

Cslsstets] o3 R OtOCIjtedLizjd3 9o Mdzi Hize M j d3

0Slsdo dzsfiply B dslsr’ MCsEts o jHjddW L] d
& ° secOddLOyd?2 d YOSkttt jj Bl
) stejBdlsjdz MCOW OCIsdo dgsmls' L tedlsjj-dz f

dzj i3 tslsdetsh jdedw € EfmMdzzej d Byt yHjdds €L
Lictse j dz OCIsdo dats s qAi3dY ey fiff Izj HoZdftey iy IsLe tg fidsigr «
Ctsdzyj telsdzr » BtecOdzdL Oyd2 Htoj HMIsOo dzj dzts €
v OB dzd yoO
fsmjhjddy Ctdyj

t ifMfsdH jdzst 5 YoMkl

(9 % ¢ ydmazl ke jlsdeh dn)

g Ctsdz €8 ttOL ) yJ Yy OfMmisslsO f§Mmjh |
mMdLrdzgy 1" | " 9addzOtcdg & qute] YU A
HOdzdzts?2 C tstzy| B Ste
GOdzedL Oydd?
1 oL 48,5 18,2 67,9 64,3 51,2
2-3 oL O 22,9 22,7 22,6 23,1 22,7
4-5 twOL 9,1 13,0 9,5 3,5 11,9
510 tOL 6,4 11,0 - 3,6 7,4
10 d BfSdzj j 13,1 35,1 - 5,5 6,8
RIstsg ts 100,0 100,0 100,0 | 100,0 | 100,0
utcjHdzj j L dzO| 3, 6 6,6 1,7 |3,7]3,0

sOBdzdydz" j] HOdzdz" §| Y BCOLT 908 ls, ylsdg { t
Yyjtelsdzgr » tstecOdzdL Oyd?2 3,6 tOL o Ctdayjtols
szter Mddz dets t6OL dzd yoOs smw d&jyHE M s2

! pearson ChSquare = Valud432017(a), Asymp. Sig (2-sided 0,0;CramelsV=05.4 o Wiyt j Hfigz] &'




sls d3d dzd &30 dz! dese s Csdzd yJj Mlseo © sy h j dad 2
BOC Md BOdz! detsets yYydmdzO odLdlsse o WddzOtcditsc

l ftsyimmj ddzsjtco! ¢ JosoOipdyw tsts§ g s tzR
s WOCktsteOn, Clstster j odzdwels dzO OCIsdo dzts
Licdlsjdzid3 ¢clr ="tsHddzd Br 9 Isj Olstc Btd&fJ
9jIst dzO®O HOdgdz 2 otftetsp d3F § sdzzyddzd Of-tc O
L Odedz" | tojdidf tsigaeyjrigsdadw BT dzd BB jdor
dzi cOlIsdodzs o dzdqwehdj d&O OCIsdo dzsfmls! s |
Mo dzj dz@ o IOBAZdY) 47.

v OB dzd yoO
t My sdzH j dzlsr & W OCIststeOn, dzj GOIsd o dzts
fsmihjddy Ctdyjtelsd ydhzzOkEs Pedd " d

ANOCIstster ) 1tedlsj dz2 ¢ OV Ok
Yd A ddzOted3e | 1 |t YU teh
1 JHEMIsOIstsC MMmo| 41,2 36,5 47,6 | 44,0 43,0
o 64 d3j dzq
1 zHtsBdZSy 34 1 4,4 1,4 14,2 51 -
[sMmilsmMisadj & 29 54 - - 50

dzts 3" M dzj dzdzd € s 9
d dzls § teffj tfigigts" @s !
yd st (Mmfdsisg

1 4 ftedj d3dzj dzOW 28,4 40,5 14,3 27,1 19,0
Bddzj Istse , dz S 1S
HiSG , 0¢yd?2

1JHEBMIsOBS dd 11,8 6,8 9,5 15,3 17,0
#f R, ] ¢ dzO
1 d Msslse j sMise d 11,3 9,4 14,4 8,5 17,0

Ctdzyjtelstso ( §
Liedlsj dz2 MC a3 ¢

RISsGts 100,0 100,0 100,0 | 100,0 | 100,0

vOBdzdyUdz" § HOdzdz" | T BCOLT 90¢ s, Ylofts H
sjd MS2 Okndkttedd, ©lkoflkgobthy, ddOuIOHE
$Oshdqdisd OSCIlsdodesfls: fsMmjhjddw Ctsdayjtelsdz
dydztsets S OOSjte® (cdzj HEEMISOKES Mo s SH
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Isj dz2 Mlseo ©Oe, c¢tlsMmikzlsMlsad,] SCo®if Odedd J HsH dzfs ¢
My hOl! Ctdgyj telsr ) .

[dzv o lsBte2 1 W IsEzsH @A st , d&Of W d3zd - Mo
J2 Ctdgyjtelsdes?2 HJjWIsj dz detsfylsd, ftojyH] of
fjtcokze wyjtejH'! {1Id ftedyddkz lsdj yosls L
Cbd %4 IsjdHjdzydd " o iR gddzd fted OdzOdzdL |

[ dzv vteOdz MEtsets yYJ dzstcO dzZOtetsH dzsG =2 - M€
Msoadw dzj cOIsdoadzer » WOCkitotses dzO OCIsd o datsfi
sOC Y] EZuydl ddWstedzOydtsdades?2 MsisOd daficts M j
BOYydw o wfRrR, tj ¢ dZzOKBO) .

R dzW stc 3O ¢ tsdlrlzizd ¢ Olsd o dzOv d dd3dHY J o
TOOSjtedMmisdSd Ctdayjtelsdy 7 Gtec OdzdL On

MmMOteOCIsjtedL zw 1 WWjiCIlsdoe desfls: BBOtS j Isd d
sted Odzd L Oyd?2, wWOfmMmditsisted d3 didzj ded v L te dvls j dz?
Isj dzt desfylsd ( Md3. ClOOBRHAz.24 8)j.MIslts 2y jtedptdndf ts glzv | d
dzdls+ Moty BGlsdatsh jdedy & t6j S OB ¢ Bded tols
¢, ybts jj daj odHjdz, dzj f§odddls, dmfris’

CW¥WJSClsdo dzsls sO¢dr OO Istctseo AL) € d
LOf sd3d dzOj dzgsmlis+ | mMf shtse dets s 9" L 90OIs! g
OzHdlsted d . dydlsoels t]j ¢S dzOBEz ddaW stedgIs d o
Isj dz' dzlze WERS yde tj ¢ dzOd3" (cteBYHOjIs yjd
ftcjHMsOoadzjdedj ) e) WdECMmMdwkzels 74% Ltcdlsj dzj

v Gl YO 4 ¢
td SdZOZO Ctsdeyj telsde”" = BtecOdzdL Oyd?2 o
(9 % € yYydmze wlse jlsdeh dr)

S ZOBO St OluCtsiquCtste 1l 1/ [RIB|{ Rz
Stec Odzd L Oyc HO dzj Is GB|HJ

l yjozsazs s o BsteC J

R dzls j toj ) dz®Y 42,0] 26,7 9,1 4,8 [ 17,41100,0] 0,46
dSCf dZ@B h Qw fI']V‘

RAzW sted3OIsd g 54,3| 17,5 8,0 3,4 | 16,8 |100,0| 0,56

{ By HOJIs 54,0 20,7 | 55 | 1,9 | 17,9|100,0/ 0,60
ftsmd lsdls!

(MY j ClsOC de
MisOo dzj dzd § )

[Yj®Sd Lidlj & MECBs2 OkHdlsd
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[ JCOBO Cl{roOluSyuststd 1451/ (RIS Rz
St Odzd L Oy HO dzd Is G| HJ G
R dzls j toj fjdz®Y 42,9 30,5 5,2 5,2 | 16,2 [100,0| 0,50
d3Cf dzOs h Ow fr]v\
RA&W st BOIsd ¢ 61,0/ 13,6 | 3,2 4,5 | 17,7 100,0/ 0,62
I BYHOJ s 53,2 20,1 5,8 3,2 | 1/7,7|100,0| 0,57
fsmdisdls!
(M jClsOC az
nls ©o dzd dzd d )

[Yyjdfd Ltedlsjd MS2 OzHJk G
R dzls j t6 ) Mdz®Y 36,0] 12,0 | 24,0 | 4,0 | 24,0][100,0] 0,32
d3Cf dzOs h Ow fI’]V‘
R deWw sted3OIls d g 50,0 12,0 8,0 6,0 | 24,0|100,0| 0,46
t BYHOJ s 62,0 10,0 8,0 0,0 | 20,0|100,0| 0,63
fsmdsdls!
(MY jClsOC dzt
ls ©o dzj ded J )

[YideSd Ltedljdz M2 OkHJlGHY
R dzls j toj Mdz®Y 43,3| 28,6 9,4 4,9 | 13,8 |100,0| 0,48
d3d dzOs h Ow fr]\/\
RAzW sted3OIsd € 52,2 21,7 | 10,8 | 3,0 | 12,3]100,0] 0,55
[ BYHOJIs 56,7| 19,7 5,9 2,0 | 15,7 [100,0] 0,62
fsmdisdls!
(Mt j ClsOC az
nls ©o dzd dzd d )

[Yyjdfd Ltedkjd MS2 OkZHdLGE
Rdzls j toj Mdz®Y 41,3] 254 | 7,9 4,5 | 20,9]100,0 0,46
dSCf dzOs h OQw fI']V‘
RdzW sted3OIsd g 52,0, 17,5 9,0 2,3 | 19,2]100,0 0,54
[ BYHOJIs 494 253 | 3,9 1,1 | 20,3]100,0| 0,59
fsmdisdls!
(MY JjSkOS art
ls ©o dzd dzd d )

vOBdzdydz" § HOdzdz" | Y sCOLT 90¢Is, ylsts fts

CtRBzdzd S Olkdo dztséts otsLHj2Misadw toj S &OdT ¢

&z Rsdzyj tels dz A

st OdzdL Oy(d?2?

dzj Is .
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l tsHiBd OV tOmM st j-Soeldf o3 ddegis tOdsdgd @ ig- t0z0
Misds¢ tj CdzOdgr , jhj tOL BtOIsd @My ¢ dBdzO«
YJtelsdzr = BtecOdzdL Oyd?2 (fMd3z. IsOBdz. 49) . 1 Oc
[lsdBi sddBMteyistzgj & 39, 2% tcoj M sdzH j dzlsso jdzj
dzd?2 Ckdz skter HdwW tdzzyj ddwY dzj sB - SHJ®BS
1l Istsdy wlsdaetsh jdedd wWodzw jIlsfqw OkzHdIlststedWw datj Isf
HJ dzZstse, L OlstczHdzdo M - Mw sn Otc OC ¢ dels fJ1c dzp |
CsRgizzdzd S Oydd fi) CtsdzyJ tols dzts 2 Stcc Odzd L O
Hy BseteOWdyj MSdr ROtOCIsjtedMmMisds fsCOLT 9
mMCOw OkzHdlstedw (MtejHdd?2 otLtcOMls tesHdIS
33,7 E6BHO) M kZtetso dgtsh H\S@EBI®OdZp J h G s dgfip)j te a
OkzHdlsted" vVEeOd MEtset Yj dziste® dOKBH e s
fsdz L Ilsimwy MOALdR Ctdyjtelsdts? tecOdzdL O
BOSC Md 3O dz! dzf 2 Mtej H dzd 2 M t® s dpd®m Iso & LSOQifls- cot
dzj 2 ) , tctsoijddd ) jH tfhtdgiHHAZz] e 5. | § Mdiislstew  dzO
LHJ M jMmis! d Hieg@XlOw i qtsre dyj @pOdzts dzj 5B dat
Mjte! jLds?2 HEBstOBESISEC j .

v OB dzd yoO
1tedlsjdzd tsB kZHtso dzj lse tstcj dedesisd tcOE
(o % Ctsisupdifijsizize M d =)

1 OME sdzr € 5 Il 7311710l Ctstq1 J |1/ |RIS- Rz

dzr ? HO | dagjls GBS|H j ¢
l yjzsdz fts or BtsteC J
g4 02 Iss5d3: ddeW stg 36,6/ 15,1 3,3 | 5839,2/100,0/{0,37

FHtsBMmilse sd3, d dzls

[Yjd®Sd Ldljd MEBs?2 OkHdlstdd

g4 02 Is 50d3: d dzW stg 46,1 | 17,5 4.5 5,2 126,7|100,0/ 0,47
FHtsBMlse sd3, ( dzls

[UyjdCd L] & MCs2 OkHJdlsEGGd

4 02 Istsd3: d dgW tstel 46,8 21,3 8,5 |10,6|12,8|100,0/0,43
EHBMIses sd3, ( dzlsj

[UidCd Liedbjd MSs2 OkzHJLGG(

402 Istsd: d d&z¥ std 357 8,5 1,5 | 7,5]46,8[100,0[ 0,32
FHisBMlse sd3, d dzlsj

[UYjd&Sd Liedjd MCs?2 OzHdlkBEd

g4 02 Is s50d3: d dzW tstg 26,3 18,7 2,9 2,9 (49,2| 100,0/ 0,31
HtsB Mmilse sd3, d dzls j
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[ Odzj j] R OtOCIsj tedL @i wh] Idftdag didi Ist® o 6z dgg ¥ |
HjWlisj dz' desfmisd e tMmMikzH OttMmise j dzdzr = tsB dzOMlis dz" -
sOBdz. 50) . 7 OdzdzO" HtetsBdzy BO HAW oMmj D-Ey
dzdL Oyd?2, o tmMtejddesmisd, wedzv jlsfmw sy  dz
Ozbgtedd Muyudlsosls COyjMmbots ddeW sted3OY ¢ 5 dzdz
ftodd dddzy s dzd L Cda3. 1 w6OCIsdud mMscd oM ddzH ]
Cdzyj elsdzg" = StecOdzdL Oyd?2 o [ R ©GOMY sSdzOC
1 0deBdzj | ftsBdzj Bdes2, §oMBsYyHESe@yudYdlk,
zOtc Bts dzd d .

v OB dzd yoO
[dgjdedj Ltedlsjdzj?2 ts COyjfMmbe,j tmejh jdedw |
o uwf(Pm % ¢ ydmdzz wle jlsdeh da)

sOydJmMlso | AnddzOtedztet J 1 | LIcy B|VGAL | ] YJ dzE
9" BtSte
Il T mMsCtsy 19,6 8,3 27,0 16,1 20,1
Htc] Hdz] J 40,6 39,6 52,1 55,2 49,1
1dL €54 39,8 52,1 20,9 28,7 30,8
RIstsG 5 100,0 100,0 | 100,0 100,0 100,0
RdzH j € M -0,20 -0,44 0,06 -0,13 -0,20

1 J M d3ts Isdg iz dz® 30y d ts dadzte? s g EHaztyg 52 O bsH-d Is t
dz" | BtecOdedL Oydd, Isd d3 daj 34 dzj d , n Ot OC Is
fsLdlsdo d” BREBAHBHHEG.j o' § ~OOSIjtedmigdsd
ewdzd M fishs s fMmj i3 ydzj dedets?2 -3 C @O +Bd B
dzj dedzr | HOdzdz' | ftoj HfflsOo dzj dz"@ dzO@ Mn j d3OR C

1 FOlsdo@r 2-2 -1 0 +1 +2 2,/+3 1 tsL dIsd o dz 2

d4nJ BO 3. RABJIJHY HOoJHESIMES2 ctMmMkzHOtMmIsE
o ByjdkE] yJjdzjets?2 OkHdbBd(d.

1 4 €OIlsdéBdg” 2 -1 0 +1 +225 +3 1 sL dlsd o dz 2

dnJ B30 4. RBIJHY HojtHEZBIMEtS?2 GetsMizHOtemls:
Yyd dzj ots?2 OkHdlststed d.
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1ic0Olsd8de-2 -1 0 +1 +2.3 +3 1 sLdlsdo dz 2

d4nJ B3O 5. R d3d H ¥ LIcOdzZ MEBEes GeBMEzHOteMmlIse
YyJ dzi oets? OkzHdIststed d.

1 JC0OIsd8dz"-2 -1 0 +1 1,9+2 +3 1 L dIsdo dzr 2

dnj BO 6. RBBJHY uLvicOdz MEtsEe s oy jtHals jeddC jdzOte
OzHdltsted d .

10dBtsdzj j o' MsCdj ¢ OL Olsfago jftisH dftisa]fig
ctsMizH OMmise j dzdzOW OS¢ OH(j figgd ju dgjs JO W L de@ A GeERB
¥ &zOte dftfipifjvn dzj § L dzOyd dedy 2, 5) .

ssdzCtcj sdLdekw o HiNIsOo dzj d&l Vv d B3derflsji dz!
Yyjtelsder 7 tsteeOdzgdL Oyd2, or widedds jj 3dz dzd
Yydtelsdzr » EfMdzkze §tslstcj Bdesmiswdz §f B dzd € di,- O
Wisj dzt desfylsd o t sfmMmdd (Mdz. IsOGBdz. 51, 52) .

Il yjdazsd3 fsilstcjBdlsj dz (88, 8% € jzfntj s
f 4 dz Meslse j sMisedw Ctsdzyd elsdz" = bkmdzke M
sOBdz. 51). Jtdlsjdz MECOWw OkZHdlstedw ttOMmMd
Cdz Isktedztsc s ff SIS tc-HeEsdgfzdzdE 52 6¢ B gzV s lg tdadztdzts iy Is

v OB dzd yoO

[ dej ded W ted MY sdzH | dzlsitg ey Isty dif isldrplsidls fif lssedzfydi te Is c
fslstcjBdasmlswds Ledlsjdzj2 (o % S yd

stsslso jIsMmisad] |1 O eu-|aC B J )/ |RIEB- Rz

LiedIsd dzg 2 tod J dzd Is G| H, G
AddzOte d3ts dzd d 779 17,5 0,6 0,6 | 3,4 |100,0| 0,77
gl A 66,0/ 17,0 - - 117,0/100,0| 0,75
Lte] U € 67,7 20,7 - 1,0 [10,6|100,0| 0,77
LA R 59,4| 25,7 5,7 - 9,2 |100,0{ 0,69
l yJjdzsds s o "67,8 21,0 1,9 0,5 | 8,8 100,0| 0,76

[YyideCo twimMfsdHjdlsoRkdd d&GjMmMsO ctsmMkzHOt
StceOdzdL Oyd?2 dwojtoHdztaMEts?2 B RZOMEG ( dzdO -1 !
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L OdzO, Yyksts sdzd d, o fjteolkzyr yYyJjtejJH!J - HE
mMCow Wddzotcdiisdzedw, tOMmyjdedoe O Ismw f zeddzd ¢ t
Is o w Cdzgyj telsdets? HjWIsj dzt desimisd o  sinmdd
M sdzH j dzlstse o yj,dztsd37 4,57 % " Btdsdds ] dz' MEC ts2 O
69,2%-1s j Ot O 1 Mistw@Odz! MEAS,CA% Yy j dzlstc © dzOtetsH C
-HjsMEts?2 WddzOotcditsdzd ( .

v OB dzd yoO
[ dzgj dedWw toj M tsdzH J dzsse B Mistslse jIlsMmise ddf- € 5
sdw SCtdayd elsdzs® HEMddz GasMBJS ud mdzkz

ststslseo jIsmisoadjL {1 O eaS-|laeCtste 1 JU1/ | RIE-{ Rz
odlsdwy Cwdayj ol tod 4 dzj Is GtS|HJ
desfylsd o s

A d dzOte d3ts dzd 53,9| 20,8 5,2 1,9 |18,2|100,0| 0,60
gl A 34,0 18,9 5,7 3,8 | 37,6/100,0| 0,37
bte] v € 37,4| 31,8 76 10 |22,2|100,0| 0,49
LAl R 30,3| 29,7 10,3 | 0,6 |29,1|100,0/0,39
l yjdzsds fts o393 27,1 7,6 1,4 |24,6|100,0| 0,48

] GdkOLOR BBdA& hj2 YyOfmlsd Lidlj d M2
5B d&zZOMisdzr 7 Cwdeyjtelsdzgr n tteOddL Oydd dzj
9Oy dzs?2 dBIHY jots?2 MMlsOoadvesh j2 do Ise st
or MsC 2 tyjdSts?2 COoyjMmsed® Ctdyjtelsdyr 7 Ef

st dOd dz 2 fwlstejls Ltedlsj d MSB2 BOLHJ
zOMmilsdzr = Ctsdzyj telsde"r = Btec OdzedL Oy

FOHdd S©OkSks -~OwOSkjtedmlsdSk §stlsts]
Csdzyjtelsdy 7 GecOddLOyd2 5 MdjHEs h dd
fosy do Odzd v ; ki dzh s GG @@L dg'o D dzls Ols 2 fy ;
Med2 MsOy; MOy §mjhjddy Ctdltjlsds?

{OMtejHjdjdd] ttjmMyfcdHdsss & §tdkz
53,54,

v OB dzd yoO
t OmMftej H)ydzj dzadj toJ MY sdzH j dzlsts®
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(9 % ¢ B©lajlsdeh dd3)

1l sdz| A dzOted3ss w4 T Al LI U UVteA1L § 1 yJ dzts
9" BtSte
[ 2y M¢C 25,3 18,9 16,3 16,7 19,0
rd dzm& 74,7 81,1 83,7 83,3 81,0
RIStSG 100,0 100,0 100,0 100,0 100,0
v OB dzd yoO

tOMmMftejHjdzjdedj toj MytsdeH j delstse
(9 % ¢ K jldeh d®R)

Il sLted nddz@te( 8] 1 A| Vg ul vtigAyL 1]  yJ dzt
dzd W 9" Biste

s 18 59 - 6,0 2,4 4,3
1825 14,4 57 8,6 53 9,1
25-35 20,9 62,3 26,3 17,2 25,2
3545 11,1 22,6 16,7 12,1 14,3
4555 20,9 9,4 14,1 10,4 14,2
5565 15,0 - 18,2 28,6 19,1
65 d 11,8 - 10,1 24,0 13,8
RIstsG 5 100,0 100,0 100,0 100,0 100,0
wtcjHdz 43, 3 33,7 |43, 2 50, 2| 44, 2
9 SL O
[ 8HOd 50 dzj 34 6t 31 6| 60 & 35 dzJ
o sL 60O

) sz yj dgdz j] HOdzdz j ModHjljde Mlseaks s fs
dn 0oL dzd yd ¥ oL LOMkeyk: sl { ki @d b
2) Codyjtelsdy 7 SwcOddLOyd?.

) wisOw yOflsi sBydizstcdd Mt Hdzj df 318, O ¢
hdder (81,0%) . OLEZJqydw MtejHdzj cts oL O
{ OL dzd yd™ dBsHOd dsc s ( dzOd B Halifijls® 03l ¢ ® H
60 dzjls.

d
daz

2 pearson ChBquare = Valu875237(a), Asymp. Sig (2-sided 0,0;CramelsV=05.4 o Wiy ts j Hfigz] '
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dlstczCIskEtcO® Ltdlsj dz MEts?2 OkHdltstedd s
Yyd dzsds dHJ dzlsdydzO: 93, 1% (W d dz0tedgsdzd v ) ,
(VAVTR)dIsy d&zd [ $OlIsjteddzelztcs O.0 tof W EG @&oudpls j c
dzd ydz =~ daEOG] dfjz dzC Istso v o J cH dzsoa MG 52 5B dZO M
L OtekzB j ' v (Md3. I[sOBdz 55) .

v OB dzd yoO

{ oMyt Hj dzj dad J

tj MY SdzH | dzls 5o

(9 % ¢ tslkeojlsdoh dd)
[idMts-| Adde®| {1 Al VIsJU| LIBAL T 1 yYJ dzts
¥ do Odzq ditsdzd 9" B tstc
[ $0OIsjteqg 931 94,1 89,7 88,7 90,6
4 9 | tooH-dzt 4,9 2,0 3,0 4,2 3,7
MmMeE OVW BE
ke 5] 2,0 3,9 7,3 7,1 57
RIstsG ts 100,0 100,0 100,0 100,0 100,0
Lictse j dz sBtOL tso OdzgdwW Ltedlsj dz MC 52

tcOL dzd Y j dz
ftojHmlsOo dlsj dzj 2
Ltedlsj dzj 2

s

( Ma3.

kOB dz. 56) .

f

Mt Hded &3

[ fdzd
or mMhdds ftes¥ pfpi d wdzgdzs c
(41, &%)z dy o8 iP'L i

H dzw

(46, 0%) JtOSIsduyuijmMeéd Mseaf OHOJ Is.
v OB dzd yo
t My tsdzH j delsT 5B Lktctso dzj sB O
(9 % ¢ ydmdkt? tslse jlsdoh dn)

Vicseo Jjd-| Adde®| [ A LIy U] LIGAL 1] yYJ dztgl

L 59 Odzq d3ts dzd BistcC j
Hicj Hdzj J 3,9 3,8 12,8 12,5 9,6
wtcj Hdzj j 11,2 11,3 28,6 41,5 26,4
ydOodz' dzts
I rfmhjj 84,9 84,9 57,6 46,0 64,0
RIstsg ts 100,0 100,0 100,0 100,0 100,0

# pearson ChSquare = Valug5,374(a), Asymp. Sig (2-sided 0,0;Cramels V=04. 4 o Wiyt j Hfgz] "
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v OB dzd yoO

tdMyfsdzH j dzls’ 5 MsydOdz datsadz Myl

(9 % ¢ ydmazt slse jlsdeh dn)
dstsydOdz: dz" 2 1 Adde®@u | r /vt yuotecA1] " BB
B3ts dzd o
{ OB syd 2 6,5 94 | 222 16,9 | 154
( dzs SO dzdW d S Oy
vdzzy O d2 (fMpL<e 11,8 | 113 | 64 10,7 9,6
ffdte, YtesH O]y,
LOdgv IsT jJ tolkzydz o
v jydOdzdmls Mg 41,2 | 491 | 256 11,9 | 27,6
o Oded J &3  ( o tc @fy,
Isd dz' , 3 dad HY d Y
ltoj Hf tod dad 3OIsj d 5,2 3,8 3,0 1,7 3,2
tECsotsHdlsjdz f 59 151 | 5,4 1,7 5,3
SlsHj O, Mj Sl
byoh d2mw, MmlskH 131 1,9 | 108 2,3 8,0
1 | dzind sdzj to 15,0 - 236 | 446 | 256
] toj d3j dadzts dzj tod 1,3 9,4 1,0 5,1 3,1
[oEG B} - - 2,0 5,1 2,2
RssE s 100,0 | 100,0| 100,0 | 100,0 | 100,0

glsOlskzmdz j

dz2" 7 BtecOdzdL Oyd?2 1OCY ] tOL dzd ydz . [ @H Odz!
ZzOtecdzsdzed d (41, 2%), w [ A-M{ A9 Q&Y Mis vig-a T fi
L 59 Odzd J d3. leduyuj &3 9 vty ul LIsts?2 COIsjceist
B4 dz' ", U B3 ow frdzOtedstsdzd d d

l uvtwA1 R d vtejJuvC Blyjldzdets o dHAOL -HSC
tcOMmils O, SEGHO C0OC 9 w1 A da ftOCIsdyy ms
Vic] ¢ f hdzthicOBmdzHtcze i3 S tsdzyj telsdze” &3 st C

{ d MY Bden J dals”

sB

TOEOClkjiedMmisdSd ftcjHMmlsloo dl

v OB dzd yoO
HE R S

Ztcts o dzj

* pearson ChBquare = Valud58412(a), Asymp. Sig (2-sided 0,0;CramelsV=05.4 o Wiy ts j Hfigz] '
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(9 % ¢ ydmdzl tslse jlsdeh dn)

Vieso Jd Adde®| e r A vicyulvichA1]| ] yYJj z8d3

HtSABH( d3ts dzd Biste$ j
Il mmsCd?2 6,0 13,2 3,0 - 3,8
lrhiji Mt 11,3 32,1 10,3 8,9 12,2
Htc] Hdzd 2 62,7 49,1 63,1 59,7 60,7
1dxd Mt 14,7 1,9 15,8 20,1 15,5
1dL €d2 5,3 3,7 7,8 11,3 7,8
RIssG s 100,0 100,0 100,0 100,0 100,0
RdzH J & M -0,01 0,25 -0,08 -0,16 -0,05

O d2OdzdL MlstekzCIskzter HsSmrtsSHiBe kB dzd C@- { t
HOtd Hd, ByjdzdoeOehdj Mots?2 Ektetse j dz HiR S
sjd3, odHdzr WwWodz j wWOLdEZJYUdWY d&jYHE Licdlsj
ModHjlsjd Mlsekjls 8 Mi3gh jddd HBRtHEtS ¢
(ddzH-9 ¢ 6 Mo dHjlsj dz' Misotdznjtdse ¢ fyfoy L ofj vpiefce cH
cse) .

v OB dzd yoO
td MY tsden j dals™ 5 L i Gz g ® B¢ gy jols dz' -
(9 % ¢ ydmazl ke jlsdeh dn)

1 edls§ dz dlsOy s jddwl yjdugd
MsOY |[AddzOtcdd &4 Al LIG] U|LIBAY BiBtGS J

[ 85 GEBHO 7,8 67,9 40,9 36,7 33,4

1-56 5H O 25,3 30,2 28,1 21,7 25,6

510 dzjls 22,1 1,9 16,3 11,1 14,9

1015 dzj Is 10,4 - 9,8 50 59

152 0 dzj Is 52 - 4,9 5,6 4,4

203 0 dzj Is 7,1 - - 7,8 4,6

30 dzjIs 22,1 - - 12,1 11,2

RIstsG ts 100,0 100,0 100,0 100,0 100,0

gt Hdzd 2 13,9 1,6 4,5 9,9 8,6

® pearson ChSquare = Valu®8,800(a), Asymp. Sig (2-sided 0,0;CramelsV=03. 4 o Wiyt j Hfglz] "
% pearson ChSquare = Valud 24525(a), Asymp. Sig (2-sided 0,0;CramelsV=05.4 o Wiy ts j Hfigz] '
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I'if 80 Mmbkh jMmise jdede” § t6OMn Y HJ ded V] -d3f
sjd MSsets MsOYO, k. j. MsOy0O §fyjhjddw
sOBdz. 59). uvOSC MjHdd?2 MOy Ctdyjsdjlhw

s tsdzj ydets, ot dzthplssdly LEdfdtdyjjrdg’ dayCidsmwy  d
Ctdzyjtelsdas? BcOddL Oydd. | MmOt 2h dr ¢
flso j dzdz® yOMls! fhkeddSd, CtlstLOvw ftdsjt
MCt?2 ctfkhOthise j dzdes? W dzOtedssdedd f wlsOw
MCd2 ftte ddijils 12, 1% OSdE ftdo oy dayi

{J1zrr 131713

Il yjdzsds Isj OlstcOdz dzOwW L dz? [ ¢COlsjtegezlz
ots? OkzHdbtttdd. 1t MOBstYy,j OB f tsistgj-B d I
sdudmMédd3 LOfesmMOd o HgEERY d MiOskstc | Bfigdzl
9 Cdzé YJ dedetsmisd tj Odz dzsegts ftslstej BdlIlsj dzlz- mts
YJtelsdzr » tteeOdzedL Oyd?2 o Isj OltcOdz! dzlzes y dL
Ltedlisjdzj 2 Mmtej Hdgww. l i3 Misj M Isj o3, sO¢C Ow
M sMtsisde@zj isw stcdls! HBMEzesoer |  ilstcj B datsfls
Ltej dzdh dzr » 3j tesftcdwisd?.

Victse jda2 ddW stcdsdtetse Odzedetsisd yjdzj ots?2 Ok
d C¢tdzyjtelsdz = BecOdzdL Oydw n, f SHo9 j HiEdZMIS .
tedL &3O L dzOydlsj dfy didzz y@®W s IstHtg B8 ddzf RO j Is qwdz-¢ 1
dzsmils! , sMhdzese OdzdzOW dz2O fLOSCIdSj HtsMmjh j dz
nOcOCIsjtedzO HdzwW BBz j  sdzse d dz f slstcj B G
fsojHjddY kOCte O, ybt §jtedtsHdyj MEPdzy ts
ftcOCIsdyj MSd Ibtejls: v yOMmls! Ltedlsj dz MEs?2
fOsls 9 GCOyjfMmlsej dzswd drrn ftlstejBdlsj dzj 2
Hj ddsdegMmistedteclzjIs COYHT 2 fwisr 2, dzOL T 9 @G- 1 |
yd? dz¢¥BddBr &d.

O d20dzd L MBYPRHEG wOHY yj MSdr oW ddzi 2 - s
stedz" » bkfMmdzke Isj Olstese HtcOM3" d o&zLr ¢ Odx
Ltedlsjdz MEs2 OkZHdbtedd 1Isdr Isj Oltctsds- ff s
¥doOdzdwv; Ektese jdz@ GBtOLtSoOdedwW; MsydOdz' ¢

[ od IGkjHgds sted d B dE" ddzO;ls toftpte | HIE[ 2 dzjo lds
Hsddd dzedtelze Is Yy dlsjdzd [ COljtcddzsBztca ® (ftcOC
BSHOd dor 2 Ekttse j dzr Ba'cOL jsp Ofiad W { Bt d & %D C
Ud bojtelsr 2 Ltedlsjd’ ddjdls Mmdeij;H daj § d3dndfid dals(c
sefmdzr § ~rOOME jEdB@zddtt M o Mh dd3 sBWOL TS
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v dBsdsH ! (22, 8%), My ohdjg (17 .dd %)
Hl dzZsOdzdd S O¢ MmMtejHdzed?2 (61, 4 %), ted MY sdzH J
cOMftej HY dzj .dzr  Stetso dzlz

MOteOSCIsjtedL v Glsdzsh j dzdJ OkHdlstedd ¢
&ZO Bktesodzgj wlstejBdlsjdzz MEtsets ftsojH]dedW
dzd?2 Ltedlsjd&zvd3d Isj Olstce® HteOd3¥ d dkzL '™ ds@dz'
cOdz! dz@ 2 MmJ L 5dz.

t OL dzd ydwvw L tedsgtdd dhSlsp OlOtztsal H tc O d3’ d o
dzOB dzt HOB Isfpw 5 fsCOLOIjdYdE ¢BBMd2 L to
Ctsdz€ toj Is dzts G fisB NgjR0 IsuetOkls j dzr MEC d2 MlsOy kB dz
CsRdHdd (o MejHdzid3 15 dzjls) d MOy .fsf
Y B 2 LtedlsjdzjR16G,) D tlsdelOdstsise j Is fids-o j ©
o0 Isj OltcOdz dzOW kB dzd SO dkzLr ¢ Odz' dgs?
Ckh j dzdzOW .

YyIsts COMOjIlsMmw slsdetsh jdzdw Isj OlstcOdz! dzts 2
Isj Ostetse, Ists IstdiEs dakRtsmisy tMacyjH J telskzOtey d
COC MtejHdzd?2; BBsdzj ] Htdzseadder ofmjcets dsj |
Isd e M; dzO HOdzdz' 2 diIsdzj dzls otcj d3d dzgd  tgOC Is«
dzv i3 L ZOSCtsddls: Mvw ftsylsd M § tdzemDd dt s daffis
Isj Otetse Byjdzaj 2O Ltedlsj dz ME 2 OEZHdltedj
mMydlsOsls jj 1 WWJjCIlsdoe dets? .

MOteOCIsjtedL v MBsHjtey Olsj dz dzr | OMmttg-Clsr
dzr = kmMdzke B dZzOMIsder = Isj Otese, Blsdjlsddz,
syj @b OCIkjttmMibkzy detwk d O0CIkjttmMCd?2 ijffmtsh
mMfsdH j dzlstse ), wiydmMmktelk M jSlsOCdzj 2 j(-85
Olster |, o] OdzdL 2z h ] ceBMkzHOMmlse j dadz | 54 M d
LHOdzdzts?2 Ctdzdzj CIsdotsd3z Olg difisfigdl jftists D 7 Iz astistE j f
73,4% tojMmMfsdzHj dzlstse ) oz ded J d3 o 4 Mis®- { to
dzce Mts Ltedlsjdzjds (67, 7%). uvjOttOdz dzOW
dzsfils: Isj Otctse " OtOCIsjtedL 2] Ismw Mtsotcj d3j C

1 yJ azsjdazd ifHss e dzj se stej dz ISOC dd3d ¢gzoOf te
Olstese C0O¢ BKeOddL Oydwyw W imlsdeOdzj 2, J S Ed
dzd o Ot Is ftesMmMo jIsdlsjdz MSdy bEmMddzdw Ise @y, f
Btslsz M Hjl! 3. mBlsw sisdztsm(d sz &Odzts | wizsidZn
JIs L d&Oydlsj dz dets d3j dz' h ¢ tsfe j H sd3dz] dzdzets fyls ¢

b dzOdzd L Blsdatsh jdzgdw Isj OlstcOdzt dets?2 f 28 dzd €
detsfisd, teiMmfjudoOrh j2 L WwWjClsdoedatsilg!- o
dzdwv MmMtsydtsCkzd sktedzr = bkMmdzke s Ok ®olzd g tes
ColiW stelsdzs ykeMmlsekzels MiBw o ftotsMmistcOdzMmls
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~nOtOCIsjtejdz 9" MsCd?2 Ektetse j dz 1 MisjIsdys MS
tc! jIcO IsjOlteses (90, 6%), CBBRWstlsdtsMmis! &
o jMmMsdes dzj 2 d. Ws2j (89, 7 %)

O dzOdzdL d3dzj ded?2 Isj OlstcOdz dets?2  zB dzd'S-d ¢t
dzr = MmMdzzye Isj Olteses ¢ 0OL Odz, Yylsts Mo tcj C
comm (88, 3%), Atslsw JdzscHO or MCOLT 90 Is
FHsBeMlsoa O Sz Cd B dmgoledp WjcddjslO dsdp)isda
Ms©oaCd BddzjIstse. mBtesh OW ttOBBISO ¢ OWH j tof
JIsmMw 90Oy des?2 MsMlsOoadzve h j2 MydsClkzd izt
syjdel 20 ftsLdlsdodes (64, 4%) . 1tsdzjj aifgd ¢
sz fifwddIsdo dzets? tsyJ dz2€j drm w©WOBESIST ( 6@-, 89
Btslsts?2 BEWjttseo), COYHN2 fwisr2 LtdlsjSdz'
ydodzdteso Odedw 1 Iss?2 MmjteadMmdets?2 Mmdzzy BT .

T M2 Byjdtts?2 COyjMmbeO® MydsSikzd s
nOtcOCIsj tedB))sapC P 8 OZzHdltsttdj?2 BBdREZ-Is] (
¥doOdzdw (91, 0%), vyt MoadHjlsjdz MiselzjIs
skzter weodw®lsmw JjJ §BSHM]dd ¢ dshdlsj dsd.
v B3 d Hshbskzfdshmis! Emazzed MY 7 zWmssdd ds
Gts, yYlsser BT Is! BOMMtse 52 .

lted tsftcjHjdzjdedd 1 WWjClkdoedasisd BOtS j
d3r orweoddzd, yYbt Itsdz? ¢ Hdzv f tsdtse dds 1
wodzw jlsipw ddasjtej Mdzs?2 o L Of s5d3d dz@d bz kg i3,
s ddats 2 Hdzv e EIzs? B EZY HOIS! C ftodtsBt
ftcd2Ilsd o Isj Olsts, fsmjIsdls! Mfj CIsOC dzr } .
M2 OkzHndbttdj?2 IsjOltcO® @BzL" COdz desAz- € 5
dzd C Olsdodzse s oL Hj2MlsotfO® wiEpOROBY tcj Hsy B A
cOdz! dzts?2 fkzBdzdGj dBidajd +WWJjCIlsdodets?2 § O

O dzOdzdL dgdzj dzed 2 toj My tsdzH j dzlstse s MORISOR
Lz Ilsmw 43, 9% Okzudltstedd. yOh j Hddzv ftd
Isj Olstc© d MifsHdg y'lz,j Isf Eiclkis dzlz dzj sB - tSH d diZP- € to
Fyjdeder e d MlsOdz dets?2 OEHdbtedd ¢ 1 Bsdgk
BslsO M MO2IsORBI Isj Olstetso CoslststcOW 9 jHJj s
9 ZOHBBd o Wttdddetseo Odzd 4 { t5dzdzts \Pjdrzdis xi- (s
Isj dzyd Odz! dzr &3 f slstejBdlsjdzj &3 MsydssSkzdz izt
ddzhistecdzj dzssdz kf tcOQo dzj dzgdWw dJdBBdHY J B3 Is jDIstc
Hy dzlstse EZHBodzj sotstej dzf@f ddav sSted3zOIsd o detsfls ¥ |
Isj Olstc®. 12, 2% tsictddls jsdz 0l s MB©Od(ls O] Is.

1l Oy dz" &5 Mtcj HMise tsd3$ H diglisdedzOQ e e alatiisc s 9 |
mMts Ltedlsjdzz MEts?2 OkHdlttedj 2, d demistclz d&3j dzls
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MeydsSlzdz sktcdg’r » EMdzEc O Isj Olstc® W o dzw j Isf
HyWisj dz detsfled RIs j @®lftistg alzde syj dzgd @ O Is dzjjor iy
OltcOdz! dgts? fkBdzdS¢d tOMmMyjddoeOsls jets d-0O¢C
sOsls dedLSCdds (37, 0%). 1tesBdzj dZ¥ MmoawerLd Is|
[ R ofs ddesetsds BB EMdzse dzj dzr Mzt Yls § § 8 I
dzj f sdzdetsyj dedetse s d dzj 1 WW jiClsdodesegts tsfgeo jh
sztcr . dwkh jMmsoksls d Bi jCIsdo dz' jPRdzs ) Bats §
Isj OlstceOrR. [HAdOSCt o Effdzsedwrn ddaW stcdzOyd s
steijBlzJIs Mt BdzdWOdd OtcOdzlsJtclz j Is dez |
WstedzOydtsdedz" § HdodHjdgHT , dzs d dd3idls HTS
MoydsSkzdz sztedzgsets oL Hj2Mlsoadwy dzO Ltedlsj
yse twsojHjddw dzdqudesimisd o Ckzdz Iskztede@ds
Ckdz! sktedzr = yj dedesmisj 2, §tSHH o)y Odedw ddals

1 d Mdsslstew dzO@ dzj o sdzdey + WW JjCIsdoe dalze
d dzii tste 3O G dsteigletelzd ¢ Ols d o dalz®  § t5 deigfdsHyCilze g J CHisQe
tedMmisdSd tyjddeoOslsmw Isj OlstcOtgk tets§ 5§ B tze |
hjMmlseze h Iz sf sMtcj Hiso Odzdzets s - MewLd 3§
gqdizdHy Isj Olstcese HECO d dkzL r $9CRdz! Odgts 2 to jSAE
fslstejBdilsjdzi?2 IsjOlstcOdz? dzf » Efqdzkze € sdzMmis O
HdWisj dz2 detsfilsd IsJs@lstdas a3 fg O deds MOedz! § slstcj B
[ sy des MEOLOIs!, yYlss HdzW Is]j OlstcOdz dets@ - { Iz
YWdeoydqw fm IsjOltesd, SColsster 2 MsOdz ydMnls!
Istcj Bdzj dzdw, o Oy dzts? M =Hfiddrrecdivostsh2j 1 jSWiHsHE! dis [k

{Bd@Bd j Isj Okt dqdjsls dJB3dHY EZuteij-Hic
Mets?2 HjWIljd dzsfmisd Ctlster n Mtslse jIslo lz
hjtesmMmhd2Métsets d RBJtoseoaset Isj OlsteOdz! ditsc s
MlsO jCObjteddemizteecmMEdn Isj Olstzs® 5 disded j B
Ylss sded tOMmyJ dzdo Os siw fkzedzdi 2 C0O00-Mt
tcOdz! detsets dMSEmMmMisea ®© o (MMdd (OS Mmydls
BStcCJ) d LO tkzBiytd3 (BtSdZjJ Itejlss dJj 1 ted
Mlseats Isj OlsdelOdirf dAgB tslizemj Ismiso zjIs Ektotso dz¥ d3d
Isj OlstcOdz! desects dmMEEmmlse O) .

[ rOOSIsjtedLizj B3 diBded dzedWw L tedlsj dz M2 O
fMlse jdgdzr = B d&ZOMIsdzer » Ctdzyjtolsdeg" » tstce Gadad L
Hisdidz] dedesfilsd L tedis§ tegedj slsde’jd j B &OtzfL Oyd-
fslstejBdlsjdzd {Isdr MydsSlkzd: skztedzr = EMmdzkz
mMetseh jMlsets. 1 0detcdzj j o' MsCd?2 Ektotse jdd'
ststcdd WddzOtedisdzedd (71, 2% rnttesh s ddaW tstcd
s hasjdgz dedets st 7 @ paflrj tf lRA@stefds o d dz7 Ok H  Ists
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I MisteOH’ (48%) d vEOd MEets yYjdste® dzOte
Ylsts, dzj mMzslstew dzO0 oMmj EmMddzdw H Odzdzr¥Wn- €t
WdClsdodesats ftetsH O dy J def 5 d3aflz @Aff dz¥ tizts d36@ Y efotsds
Mlsoedw M yJjdzj ots?2 OkzHdlttedj?2 fteHBd Ol

Il yJjzsdz OkzHdlsstedd ddzlsj toj MdzO BB dAE-" OW
GOdedL Oyd2 (o MtcjHdzyg ] BB %L RPTBEHEEDHE O]
MOkt yj dz¢ O3 dzs Bls fZtky s o SAY P OCIsjtedL 59 Ols
SlsHjdz! dg" » MdzeyoOwW s c¢corhj MmtcjHdzj 2€) .d-1 to
LOYd?2 ftLodzddzO MmMtej Hdz MIsOIsdMIsd ud ME sz
fsdzso ddzts? oMmMjcety tedfds j iz H§ BBz Oz@ .J Is tSitpts(S) QW
syjdz¢ o0 1 WWjSClsdoe dzsfls toj f j tolslzOtcdats 2 f t
(81,0%).

MOtCOCIsjtedL W MsHjtey Olsj dz dzf | Ofmtfizi Sls
YJjtelsdz m BtedOdzgdL Oyd2, ldjilsdd, Yoz lzs
Isdee € sdzyj tels dz' ~ s islcjcdPisize @ d2y@ BB d¢ji?ls s frsldzagjd
81, 7% toj MY sdzH j dzls 59 )5 d3tsofrf@lls) ddsizg dd ) B on@s%)H,0 Is
Hs o j ted IS dzf tes W j MM H ¢ etz dzin K725%)d Is § dzj d3

[ dz# o j tc H tzBcetdiflz H O tis RS @ Higdasd? y jWipkdzO tc d3ts dzd d
ZC OL Odzgdz" » Obsh iz Y sCGOLOCIsjtedzO 1SOCH | orf
so stcy§ gEzd ®j Isdzr 7 d MY s dzdzd B j A6, dz OfjRiiaEEDiRds s
Miste s dzd CStodzdzjEfsfdtodzdzdIsj dzj 2 (77, 1 %) . d-yJ
L Oyd tsdzdzOW OB SISO, Mo w L OdzdzOW g dzff ts {= 8isflzr F
B"Isd2 (70, 3%). 1 tedlsj drds opjsdstcld) Etf th&© gze3(s dz
dzts (s6 8 , 4 %) , Bz s DM I 1§ & ¥ gzt BifdlO L iste Os j dds iz
des s (6 dzj @H] &G a) dij ibpis s © Bztipls L tc 66,9%r] d3

1tedlilsj dz2 MC k¥ Ok Widlotdafdsts dadidls fisCug2dz!  tdf-tc d ¢
sz Ote, stccOdzdL Oydw tOBTSIST M HJjls! d@3Zs-( 8 ¢
dzOdz! dzr 2 (72, 7%) YHAatH §¢ w©OLCEtSO StclzO-M
LS9 Olsj dz! dzts?2 HJjwWIsj dz¢ dztsflsd Jj(dZj6dzOroe @O ity digd
OIsMts L te d65.9%r) d3

l1 zBdzZE § Olstc© 1 fls tc OH O B #B5's fif Elelixiz j \f jlsddplss otc ( T
OdzmM OB dzj 2, BR2H $2H)  KaH JetsW j Mind sdzOdzd L
(77, 2%) , sotsteyj MC s Ol jtokz Isj OlstcO
syjdz o@BEED0 IIsj Otc® M Hejsdyedsds PF U4z '8 M) ,E
Isj dDwdg W iIs j dz{ @B M E %) . 1 2B dzd € O B (z@rg tz@ (Pide O
dz¥ § Sfidss®eztighs L tc 712,4%)x] d3

[ dzv  Ltedlsj dz2 ¢ @ OdBemE] d@sde@tgsH dzsc s d
n OtcOC Is jipdsR@W o 'sOBjEEEOm s Y j MSdrn Ctsdzdzj CIsd e
OzMO®E dzj 2, MEETH] B %Yetshge Bils B j ds BIHEQ Loas ol 3
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(67, 7%), Isotstewjjivsyay. GEBUSE S 2 Hf jiclsfly Sz
i jtelsQtezj dzOf Qo dzj dzdzOW tcOBISO f HJIsMS

1tedlsjdz MS OV Okudltstdw o fjgE df s deyijfedsSd
dzd zO© e OdzdL Oydsdedzz ( MJj teodmadzlze ) HIWIS
fslstejBdzj degdv Ctsdgyj telsdes? b fydakic @2 desls ks j oz
Cdzyd telsdzr 7 Stcc O ds[BWORYtE IR dzt(fijlsl! s 91.%B 5 af ISCf 6z9 dlz
ojMmlsdes dzj2 d DeBES?6EOLEM) LWEO § Giffj 2( 6
Cdz sktes? g Mok isfpstrdidgissmis( 6 6 Zhizz e d j &4 o
fddd dr fttdodf §OEE EOBSE®) B Mistsd itsiis
SH&ZO dL -~ OwLOCljtedMmisds HoMlsky dshisd k& fidt

MOOSIsjtedL 2w d3dzd dad W YydJ dzj o 52 OkzHd
CoBzdzd S Olsdodzts?2 Hjwlsj d detsfylsd S tsdzy jOs s dz
Bz Ctdyjtelsdy 7 Bted Odedst OWdi2j Sustechlslgs®d  fig df
Jdo stckOIsdo dats? (Slsdsjlsddts 71, 8% toj MY tsdzH
Licdlsj dz MC 52 Ok wyidi szt j (s&{&, 7 %) dzy j teis-  ( f
MlsOodzj dzd i) (74 %) .

'3 Mlsy M Ijd3, o MejHdzj d3 39, 2%d e@BHY
YJtelsdz = e OdedL Oyd2 Hdzv fsdzzyj ddv tdzj
edd MudlsOor lsmE Puj s s H g5z eOdziigls § dzdz’ -
Cdeyj telsder 7 ®Btcd @afed tc@y ditizj dsts dzd L € d 3.

1 J Mot Isgd vtz dz® 3Oy d t5 dadz' L2te ddstg s HN § 52 @z H
dz" | BtecOdedL Oydd, Isd d3 daj 34 dzj J , n Ot OC Is
fsLddody &8 d@FetmgR of MsCdj §s¢0L Ok d
d i34 el J toH Griwetsiihlz H O @A @ HigdaRd y J windk dzO 6 B tify'Y
W d dzO e ts dzd

] Oy dzgs?2 JRYOEASIsRedMisdC 2 wodwjlsigyr
Hj dZsOid oi3j MsO csmkhOkfise j deder & 5B &zOfls dzr
MS 2 ©Bd&OMId o BN jEsMnd2 M2 Ckdjsktsc
MCOw Hjwlisjd dsfhls! toO fsisdedh) sy e dpssielo|Ls
sd?sdeyj telsdets?2 1w j Y sjndg'ddis mls d

 slsOltsydets 0" MsC d2 kttse jdz@ MOBsdH | dz
LOYydwWw isd ftetsH | @3sdzmistedtetse Odzd Isftuselts gzip 6 5 dzt
or MsC ke Mmisj i df tsdsicdddgfigantse Wiz ©Of tc sdOdz
mlsw o3

| yjdsd Ltedlsjd MSOW ObkHdlktstdY ¢k
St OdzdL Oyd?2 dzj SHdSEEH 20, to@j deg @ % v
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Isj dz' MStsets 5o H ] dfftyyls judgddzdes i lsfr dgd dzgs | i to
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[ftetsfy Odatsded dgdz" 2. 1 tsdzkyd dede" § tojL kzdz' sOIst BzHEIs dfr
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4. [ROwOSCIjtedLiz2Isj, §ty0dzkz2MisO, MmMetj Glsdesh j ded

( slblefils: o COYHB2 MlstetsC j)
UJOlstcOdz dzgOw L dzt | 1Ol ulCtstg] aCtste|] 4171 OlstelzH ¢
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58. s0¢dJj IjOlter d SCtdzyj telsde j ttecOdzdL Oydd 17 § s
(Bsy des 9" BtcOIs! dzgj M sdz' C5 9 OtcdOdzlstso tslso j
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